Jefferson County Public Schools

JETTERSON COUNTLY PUBLIC SCHOOLS
Bid Tabulation
Event Name: Bus Body Parts & Accessories
Event ID: JCPS-8495
Approval Date: December 9, 2025
Date Bids Received: November 5, 2025
Contract Period: December 9, 2025 through December 8, 2026

Renewals: No renewal options

Comments: Award Status indicates an award

| - | | | li . | H. | П | ii . | Ti and the second | | 1 | Tir. | | 10 |
|-------------|-------------------------------------|---------------------------------|-----------------|--------------------|--------|----------|--|----------------|---------------|----------------------------|--------------|--|
| | | | | | | | | | | | | Award Notes |
| Item Number | Item/Service | Description | Commodity Code | Vendor Name | иом | Quantity | Manufacturer / Part No. | Unit Bid Price | Total Price | Vendor Response Item Notes | Award Status | |
| 1 | Absorbent, Spill. | Ward buses. #422620001. | 5400010-1717890 | | 1-Each | 10 | | | \$0.0000 | | | No Bids Received |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 2 | Alarm, Back Up. | 107 decibels. Ward buses. #570. | 1300025-1707944 | Ascendance Trucks | 1-Each | 40 | Navistar / fleetrite | \$21.0000 | \$840.0000 | | | Rejected - does not |
| _ | , | | | | | | fltbua12v | , | 70.0000 | | | meet specifications for voltage or decibel level. |
| | | | | | | | | | | | | voltage of deciber level. |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 2 | Alarm, Back Up. | 107 decibels. Ward buses. #570. | 1300025-1707944 | American Bus | 1-Each | 40 | FIAMM ALARMF107 | \$25.4200 | \$1,016.8000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 2 | Alarm, Back Up. | 107 decibels. Ward buses. #570. | 1300025-1707944 | Boyd Truck Centers | 1-Each | 40 | Eco 450 | \$76.6200 | \$3,064.8000 | | | |
| | | | | | | | | · | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 3 | Alternator, fits Pad Mounts. | 240 amp. lift. #ZLNAV1160P2003. | 1343030-2013557 | Ascendance Trucks | 1-Each | 25 | Navistar / lecce neville 4022171c92 | \$309.0000 | \$7,725.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 3 | Alternator, fits Pad Mounts. | 240 amp. lift. #ZLNAV1160P2003. | 1343030-2013557 | Boyd Truck Centers | 1-Each | 25 | LN AVI160P2003 6 | \$437.5600 | \$10,939.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 3 | Alternator, fits Pad Mounts. | 240 amp. lift. #ZLNAV1160P2003. | 1343030-2013557 | American Bus | 1-Each | 25 | | | \$0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 4 | Assembly, 2 Button Seat Adjustment. | C2 Bus, NTS 23076603. | 1333450-0126411 | Ascendance Trucks | 1-Each | 15 | Navistar | \$8.5000 | \$127.5000 | | | |
| | | | | | | | NS23076603 | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | Awarueu | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |

| 4 | Assembly, 2 Button Seat Adjustment. | C2 Bus, NTS 23076603. | 1333450-0126411 | American Bus | 1-Each | 15 | OEM NTS 23076603 | \$10.4500 | \$156.7500 | | |
|---|--|--|------------------|--------------------|---------|----|------------------|------------|--------------|---------|--------------------------------|
| | ,, | , | | | | | | , | , | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 4 | Assembly, 2 Button Seat Adjustment. | C2 Bus, NTS 23076603. | 1333450-0126411 | Boyd Truck Centers | 1-Each | 15 | | | \$0.0000 | | |
| , | rescribit, 2 Sactor seat registriciti | CE 543, 1115 2507 6663. | 1333430 0120411 | Boya Hack centers | 2 2001 | | | | \$0.000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 5 | Assembly, Mirror, Crossview. | For '23 Model Buses. #RPS 3490H. | 1330400-2015173 | Boyd Truck Centers | 1-Each | 5 | RPS 19FL | \$15.0300 | \$75.1500 | | Rejected - incorrect part |
| | | | | , | | | | | | | bid. |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 5 | Assembly, Mirror, Crossview. | For '23 Model Buses. #RPS 3490H. | 1330400-2015173 | American Bus | 1-Each | 5 | OEM RPS 3490H | \$98.1600 | \$490.8000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 5 | Assembly, Mirror, Crossview. | For '23 Model Buses. #RPS 3490H. | 1330400-2015173 | Ascendance Trucks | 1-Each | 5 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 6 | Assembly, Mirror Head, Heated Remote. | For C2 Buses, #TBB 102027 or RPS815H. | 1330400-2015318 | Boyd Truck Centers | 1-Each | 10 | RPS 19FR | \$13.9300 | \$139.3000 | | Rejected - incorrect part bid. |
| | | | | | | | | | | | part blu. |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 6 | Assembly, Mirror Head, Heated Remote. | For C2 Buses, #TBB 102027 or RPS815H. | 1330400-2015318 | Ascendance Trucks | 1-Each | 10 | Rosco ZR815H1 | \$26.0000 | \$260.0000 | | Rejected - incorrect part bid. |
| | | | | | | | | | | | , |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | 444 | 40.00 | | |
| 6 | Assembly, Mirror Head, Heated Remote. | For C2 Buses, #TBB 102027 or RPS815H. | 1330400-2015318 | American Bus | 1-Each | 10 | OEM RPS815H | \$254.4700 | \$2,544.7000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 7 | Base, Mounting Cross View Mirror, Left Side. | '03 Freightliner bus w/Thomas body. #RPS-19FL. | 1330400-2008660 | American Bus | 1-Each | 1 | OEM RPS-19FL | \$12.9600 | \$12.9600 | | |
| | , mounting cross view winter, Lett side. | os regulante ous ny montas body. mit s 137L | 2330-103-2000000 | , and dail bus | 2 20011 | | 32 | Ç12.3000 | \$12.5000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | l |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |

| 7 | Base, Mounting Cross View Mirror, Left Side. | '03 Freightliner bus w/Thomas body. #RPS-19FL. | 1330400-2008660 | Boyd Truck Centers | 1-Each | 1 | RPS 19ICL | \$24.0100 | \$24.0100 | | | |
|----|--|--|------------------|--------------------|---------|----|---------------|------------|------------|---|---------|----------------------|
| | , | | | .,. | | | | | , | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 7 | Base, Mounting Cross View Mirror, Left Side. | '03 Freightliner bus w/Thomas body. #RPS-19FL. | 1330400-2008660 | Ascendance Trucks | 1-Each | 1 | | | \$0.0000 | | | |
| , | base, Wounting Cross view Willfor, Eere Side. | os freightimer bus wy frioritas body. #N 3-151E. | 1330400 2000000 | Ascendance rideks | 1-Edili | 1 | | | \$0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 8 | Base, Mounting Cross View Mirror, Right Side. | '03 Frieghtliner bus w/Thomas body. #RPS-19FR. | 1330400-2008661 | American Bus | 1-Each | 1 | OEM RPS-19FR | \$12.9600 | \$12.9600 | | | |
| ŭ | base, mounting cross view minor, right stace. | os megnamer sus ny momus souy. mm s 15m. | 1330100 2000001 | 7 merican bas | 1 20011 | - | OLINING 25111 | \$12.5000 | \$12.5000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 8 | Base, Mounting Cross View Mirror, Right Side. | '03 Frieghtliner bus w/Thomas body. #RPS-19FR. | 1330400-2008661 | Boyd Truck Centers | 1-Each | 1 | RPS 19ICR | \$26.9900 | \$26.9900 | | | |
| ŭ | base, mounting cross view minor, right stace. | os megnamer sus ny momus souy. mm s 15m. | 1330100 2000001 | Boya Hack centers | 1 20011 | - | III S ISIGN | \$20.5500 | \$20.3300 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 8 | Base, Mounting Cross View Mirror, Right Side. | '03 Frieghtliner bus w/Thomas body. #RPS-19FR. | 1330400-2008661 | Ascendance Trucks | 1-Each | 1 | | | \$0.0000 | | | |
| Ü | base, mountaing cross view minor, might state. | os megnamer sus wy momus sour. mit s 13mi | 1550-100 2000001 | 7.5ccndance macks | 1 20011 | - | | | \$0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 9 | Base, Mounting, Cross View Mirror, Left Side. | '05 IH bus. #ZR191CL. | 1330400-2012552 | Ascendance Trucks | 1-Each | 5 | Navistar | \$21.2900 | \$106.4500 | | | |
| | 3 , 1111 | | | | | | ZR19ICL | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | Awarueu | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 9 | Base, Mounting, Cross View Mirror, Left Side. | '05 IH bus. #ZR191CL. | 1330400-2012552 | American Bus | 1-Each | 5 | OEM ZR191CL | \$22.4900 | \$112.4500 | 1 | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 9 | Base, Mounting, Cross View Mirror, Left Side. | '05 IH bus. #ZR191CL. | 1330400-2012552 | Boyd Truck Centers | 1-Each | 5 | RPS ASY3051 | \$100.6200 | \$503.1000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 10 | Base, Mounting, Cross View Mirror, Right Side. | '05 IH bus. #ZR191CR. | 1330400-2012553 | Boyd Truck Centers | 1-Each | 10 | RPS 19NA | \$15.0300 | \$150.3000 | | | Rejected - incorrect |
| | | | | | | | | | | | | part bid. |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |

| 10 | Base, Mounting, Cross View Mirror, Right Side. | '05 IH bus. #ZR191CR. | 1330400-2012553 | Ascendance Trucks | 1-Each | 10 | Navistar ZR19ICR | \$21.2900 | \$212.9000 | | |
|----|---|---------------------------------------|-----------------|--------------------|---------|----|-----------------------|------------|--------------|---------|--|
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 10 | Base, Mounting, Cross View Mirror, Right Side. | '05 IH bus. #ZR191CR. | 1330400-2012553 | American Bus | 1-Each | 10 | OEM ZR191CR | \$22.4900 | \$224.9000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 11 | Base, Mounting, Mirror Over Entrance Door, Right Hand. | '05 thru '09 IH buses. #ZRASY3051. | 1330400-2012868 | Ascendance Trucks | 1-Each | 6 | Navistar ZRASY3051 | \$84.0900 | \$504.5400 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 11 | Base, Mounting, Mirror Over Entrance Door, Right | '05 thru '09 IH buses. #ZRASY3051. | 1330400-2012868 | American Bus | 1-Each | 6 | OEM ZRASY3051 | \$95.7400 | \$574.4400 | | |
| | Hand. | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 11 | Pace Mounting Mirror Over Entrance Deer Bight | '05 thru '09 IH buses. #ZRASY3051. | 1330400-2012868 | Roud Truck Contars | 1-Each | 6 | | | \$0.0000 | | |
| 11 | Base, Mounting, Mirror Over Entrance Door, Right Hand. | US tillu U9 in buses. #ZRAS13US1. | 1330400-2012868 | Boyd Truck Centers | 1-EaCii | 6 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 12 | Base, to Convert to Air Operated Crossing Gate, | '05 and '06 IH buses. SMC #028133. | 1333100-2012628 | Ascendance Trucks | 1-Each | 3 | Navistar SMC028133 | \$697.2600 | \$2,091.7800 | | |
| | BASE ONLY. | | | | | | SMC028133 | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 12 | Base, to Convert to Air Operated Crossing Gate, | '05 and '06 IH buses. SMC #028133. | 1333100-2012628 | American Bus | 1-Each | 3 | OEM 28133 | \$725.2100 | \$2,175.6300 | | |
| | BASE ONLY. | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | 4000 | 40.44 | | |
| 12 | Base, to Convert to Air Operated Crossing Gate, BASE ONLY. | '05 and '06 IH buses. SMC #028133. | 1333100-2012628 | Boyd Truck Centers | 1-Each | 3 | SMA 28133 | \$805.0400 | \$2,415.1200 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 13 | Base, to Convert to Air Operated Crossing Gate, | '07 thru '09 buses. SMI #XS128187-SP. | 1333100-2012627 | Ascendance Trucks | 1-Each | 15 | Navistar | \$258.7200 | \$3,880.8000 | | |
| | BASE ONLY. | | | | | | SMCXA128187sp | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| L | | | | | | | | | 1 | | |

| | T | 100 1 100 1 100 1 | | | | | | | 4 | | |
|-----|---|--|-----------------|--------------------|--------|----|-----------------------|------------|----------------|---------|--|
| 13 | Base, to Convert to Air Operated Crossing Gate, BASE ONLY. | '07 thru '09 buses. SMI #XS128187-SP. | 1333100-2012627 | American Bus | 1-Each | 15 | OEM XA128187-SP | \$277.9800 | \$4,169.7000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 13 | Base, to Convert to Air Operated Crossing Gate, | '07 thru '09 buses. SMI #XS128187-SP. | 1333100-2012627 | Boyd Truck Centers | 1-Each | 15 | SMA XA128187 SP | \$296.4600 | \$4,446.9000 | | |
| | BASE ONLY. | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 14 | Belt, Seat, Drivers. | '04 Freightliner bus w/Thomas body. #TBB65011339. | 7000180-2002469 | Boyd Truck Centers | 1-Each | 5 | TBB 65011339 | \$248.7400 | \$1,243.7000 | | |
| | | | | , | 2 220 | | | , | 7-, | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 14 | Belt, Seat, Drivers. | '04 Freightliner bus w/Thomas body. #TBB65011339. | 7000180-2002469 | American Bus | 1-Each | 5 | OEM TBB65011339 | \$258.9300 | \$1,294.6500 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 14 | Belt, Seat, Drivers. | '04 Freightliner bus w/Thomas body. #TBB65011339. | 7000180-2002469 | Ascendance Trucks | 1-Each | 5 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | 4 | 4 | | |
| 15 | Belt, Seat, Drivers, 3 Point. | '02 IH bus. #447646001. | 7000180-2009716 | American Bus | 1-Each | 10 | OEM 447646001 | \$144.1000 | \$1,441.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | Awarueu | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 15 | Belt, Seat, Drivers, 3 Point. | '02 IH bus. #447646001. | 7000180-2009716 | Ascendance Trucks | 1-Each | 10 | Navistar | \$227.8300 | \$2,278.3000 | | |
| | | | | | | | 447646001 | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 15 | Belt, Seat, Drivers, 3 Point. | '02 IH bus. #447646001. | 7000180-2009716 | Boyd Truck Centers | 1-Each | 10 | | | \$0.0000 | | |
| 1 - | | 2222 444,04002. | | , | | 10 | | | +1.3000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 16 | Belt, Serpentine. | 08 IH bus w/Maxx Force Engine. #4080964 or #1832194C2. | 1430595-2010303 | Ascendance Trucks | 1-Each | 1 | Navistar 1832194c3 | \$24.8200 | \$24.8200 | | |
| | | | | | | | 103213403 | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |

| | - 1: - | | | | | | | | 40.0 | | |
|----|--------------------------------------|--|-----------------|----------------------------------|--------|----|-------------|-----------|------------|---------|------------------|
| 16 | Belt, Serpentine. Belt, Serpentine. | 08 IH bus w/Maxx Force Engine. #4080964 or #1832194C2. 08 IH bus w/Maxx Force Engine. #4080964 or #1832194C2. | 1430595-2010303 | American Bus Boyd Truck Centers | 1-Each | 1 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| 17 | Blade, Heater Fan, Rear. | Blue Bird buses. #2004307. | 1340100-1662118 | American Bus | 1-Each | 10 | OEM 2004307 | \$12.2400 | \$122.4000 | Awarded | |
| 17 | Blade, Heater Fan, Rear. | Blue Bird buses. #2004307. | 1340100-1662118 | Ascendance Trucks | 1-Each | 10 | | | \$0.0000 | | |
| 17 | Blade, Heater Fan, Rear. | Blue Bird buses. #2004307. | 1340100-1662118 | Boyd Truck Centers | 1-Each | 10 | | | \$0.0000 | | |
| 18 | Blade, Wiper. | Wayne buses. #300930-1. | 1330200-1712485 | American Bus | 1-Each | 1 | OEM WSWB18H | \$6.2200 | \$6.2200 | Awarded | |
| 18 | Blade, Wiper. | Wayne buses. #300930-1. | 1330200-1712485 | Ascendance Trucks | 1-Each | 1 | | | \$0.0000 | | |
| 18 | Blade, Wiper. | Wayne buses. #300930-1. | 1330200-1712485 | Boyd Truck Centers | 1-Each | 1 | | | \$0.0000 | | |
| 19 | Blade, Wiper | 20" DYNA '03 IH bus. #1496835 or DYNA 108-4-20. NO SUBSTITUTE. | 1330200-2000740 | | 1-Each | 1 | | | \$0.0000 | | No Bids Received |

| | | | | T | | | | | | | | |
|----|--|---|------------------|---------------------|---------|----|---------------------------|------------|---------------|-------------------------------|---------|--|
| 20 | Block, Lower Pivot Entry Door. | C2 Bus TBB 222099 | 1333300-1026390 | American Bus | 1-Each | 10 | OEM TBB 222099 | \$24.2700 | \$242.7000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 20 | Block, Lower Pivot Entry Door. | C2 Bus TBB 222099 | 1333300-1026390 | Ascendance Trucks | 1-Each | 10 | | | \$0.0000 | | | |
| 20 | Block, Lower Fivor Entry Boots | CE 503 155 222555 | 1333300 1020330 | 7 Sectionate Tracks | 1 20011 | 10 | | | \$6.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 20 | Block, Lower Pivot Entry Door. | C2 Bus TBB 222099 | 1333300-1026390 | Boyd Truck Centers | 1-Each | 10 | | | \$0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 21 | Bracket, Cross View Mirror, Right Side. | For '11 thru '16 Thomas C2 buses. #RPS ASY4313. | 1330400-1675766 | Boyd Truck Centers | 1-Each | 7 | RPS ASY4313 | \$87.0600 | \$609.4200 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 21 | Bracket, Cross View Mirror, Right Side. | For '11 thru '16 Thomas C2 buses. #RPS ASY4313. | 1330400-1675766 | American Bus | 1-Each | 7 | OEM ASY4313 | \$116.1600 | \$813.1200 | | | |
| | bracket, cross view winter, right state. | 101 11 till 10 1101103 CL 003C3. INI 37/314313. | 1330-100 1073700 | 7 unchean bas | 1 20011 | , | 0EM7014313 | \$110.1000 | \$615.1266 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 21 | Bracket, Cross View Mirror, Right Side. | For '11 thru '16 Thomas C2 buses. #RPS ASY4313. | 1330400-1675766 | Ascendance Trucks | 1-Each | 7 | | | \$0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 22 | Bracket, Hinge for Crossgate. | For '17 & Up IH Buses. #SA28170, #2169. | 1333300-1711475 | American Bus | 1-Each | 50 | OEM 2169 | \$34.7300 | \$1,736.5000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 22 | Procket Hings for Cressets | For '17 & Up IH Buses. #SA28170, #2169. | 1333300-1711475 | Accordance Truelin | 1 Fach | F0 | Navistor | \$296.8200 | ¢14 041 0000 | SA28170 Superseds to this new | | |
| 22 | Bracket, Hinge for Crossgate. | rui 17 α υμ in buses. #5A28170, #2169. | 1555500-1/114/5 | Ascendance Trucks | 1-Each | 50 | Navistar SMCXA128187SP | \$290.8200 | \$14,841.0000 | number SMCXA128187SP | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 22 | Bracket, Hinge for Crossgate. | For '17 & Up IH Buses. #SA28170, #2169. | 1333300-1711475 | Boyd Truck Centers | 1-Each | 50 | | | \$0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |

| _ | | | Τ | | | | _ | | | T . | |
|----|-------------------------------|------------------------------------|-----------------|--------------------|------------------|----|-----------------------|-----------|------------|---------|------------------|
| 23 | Bracket, Stow. | Various buses. #T4411-002. | 1333100-2012629 | American Bus | 1-Each | 1 | OEM T4411-002 | \$27.2400 | \$27.2400 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 23 | Bracket, Stow. | Various buses. #T4411-002. | 1333100-2012629 | Ascendance Trucks | 1-Each | 1 | | | \$0.0000 | | |
| 25 | Bracket, Stown | Validas Basesi. 1174-12 002. | 1333100 2012023 | 7.5cmdine madio | 2 20011 | 1 | | | \$6.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 23 | Bracket, Stow. | Various buses. #T4411-002. | 1333100-2012629 | Boyd Truck Centers | 1-Each | 1 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 24 | Bulb, with Socket for Dash. | '05 and '06 IH buses. #2506796C1. | 5000040-2008851 | Ascendance Trucks | 1-Each | 1 | Navistar S20435PHD | \$5.2200 | \$5.2200 | | |
| | | | | | | | 320433F11D | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 24 | Bulb, with Socket for Dash. | '05 and '06 IH buses. #2506796C1. | 5000040-2008851 | American Bus | 1-Each | 1 | | | \$0.0000 | | |
| 24 | Build, With Socket for Dasii. | 03 and 00 in buses. #2300/30C1. | 3000040-2008831 | American bus | 1-Eacii | 1 | | | 30.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 24 | Bulb, with Socket for Dash. | '05 and '06 IH buses. #2506796C1. | 5000040-2008851 | Boyd Truck Centers | 1-Each | 1 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 25 | Bulb, Turn Signal. | '90 IH bus. #T-3156. | 5000040-1698692 | | 1 - 10 Count Box | 7 | | | \$0.0000 | | No Bids Received |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 26 | Cable Hard Cream | '01 thru '11 IH buses. #3551734C2. | 1333200-2012867 | Amarian Don | 4 Fb | | OEM IH3551734C2 | ¢11 0100 | Ć110 1000 | | |
| 26 | Cable, Hood Safety. | 01 tillu 11 in buses. #3551/34C2. | 1555200-201286/ | American Bus | 1-Each | 10 | OEIVI IN3551/34C2 | \$11.8400 | \$118.4000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | Awarueu | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 26 | Cable, Hood Safety. | '01 thru '11 IH buses. #3551734C2. | 1333200-2012867 | Ascendance Trucks | 1-Each | 10 | Navistar | \$12.7900 | \$127.9000 | | |
| | | | | | | | 3551734c4 | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |

| 2.0 | 211 11 12 5 | 10.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1.1. | | | | | | | 40.000 | | |
|-----|---------------------------------|---|-----------------|--------------------|--------|----|-----------------------|-----------|------------|---------|--|
| 26 | Cable, Hood Safety. | '01 thru '11 IH buses. #3551734C2. | 1333200-2012867 | Boyd Truck Centers | 1-Each | 10 | | | \$0.0000 | | |
| 27 | Cable, 6/32 x 1 1/2 Stop Arm. | All type buses. #2196. | 1343060-1249394 | American Bus | 1-Each | 1 | OEM 2196 | \$5.0900 | \$5.0900 | | |
| | | | | | | | | | | Awarded | |
| 27 | Cable, 6/32 x 1 1/2 Stop Arm. | All type buses. #2196. | 1343060-1249394 | Ascendance Trucks | 1-Each | 1 | Navistar SMC2196 | \$7.0000 | \$7.0000 | | |
| 27 | Cable, 6/32 x 1 1/2 Stop Arm. | All type buses. #2196. | 1343060-1249394 | Boyd Truck Centers | 1-Each | 1 | | | \$0.0000 | | |
| 28 | Cap, Washer. | Ward '92 IH buses. #063351. | 1330250-1716658 | American Bus | 1-Each | 3 | OEM 63351 | \$9.9800 | \$29.9400 | Awarded | |
| 28 | Cap, Washer. | Ward '92 IH buses. #063351. | 1330250-1716658 | Ascendance Trucks | 1-Each | 3 | Navistar 433083001 | \$13.2200 | \$39.6600 | | |
| 28 | Cap, Washer. | Ward '92 IH buses. #063351. | 1330250-1716658 | Boyd Truck Centers | 1-Each | 3 | | | \$0.0000 | | |
| 29 | Clamp, Hose, Charge Air Cooler. | IH buses. #2031753C1. | 4750020-2008632 | Ascendance Trucks | 1-Each | 5 | Navistar 2031753c1 | \$56.2100 | \$281.0500 | Awarded | |
| 29 | Clamp, Hose, Charge Air Cooler. | IH buses. #2031753C1. | 4750020-2008632 | American Bus | 1-Each | 5 | | | \$0.000 | | |

| | T | | | T | | 1 - | 1 | ı | | 1 | |
|----|---|--------------------------------|-----------------|--------------------|--------|-----|-------------------------|-----------|-----------|---------|--|
| 29 | Clamp, Hose, Charge Air Cooler. | IH buses. #2031753C1. | 4750020-2008632 | Boyd Truck Centers | 1-Each | 5 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 30 | Clamp, Hose, Size 10, 3/8" to 5/8" S/S Combo. | #BH10, #H-8 or Moog #52010. | 4750020-1250097 | Ascendance Trucks | 1-Each | 65 | Navistar #10 | \$0.4400 | \$28.6000 | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| 30 | Clamp, Hose, Size 10, 3/8" to 5/8" S/S Combo. | #BH10, #H-8 or Moog #52010. | 4750020-1250097 | American Bus | 1-Each | 65 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 30 | Clamp, Hose, Size 10, 3/8" to 5/8" S/S Combo. | #BH10, #H-8 or Moog #52010. | 4750020-1250097 | Boyd Truck Centers | 1-Each | 65 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 31 | Clip, Seat, Front and Rear. | Ward buses. #3827500C2. | 1333450-1688458 | American Bus | 1-Each | 5 | OEM 3827500C2 | \$4.0200 | \$20.1000 | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| 31 | Clip, Seat, Front and Rear. | Ward buses. #3827500C2. | 1333450-1688458 | Ascendance Trucks | 1-Each | 5 | Navistar 3827500c3 | \$10.3900 | \$51.9500 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 31 | Clip, Seat, Front and Rear. | Ward buses. #3827500C2. | 1333450-1688458 | Boyd Truck Centers | 1-Each | 5 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 32 | Connector, IPR Sensor. | IH buses w/DT466E. #2501107C1. | 1343180-2002584 | Ascendance Trucks | 1-Each | 2 | Navistar 2501107caxl | \$22.4400 | \$44.8800 | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | Awarded | |
| 32 | Connector, IPR Sensor. | IH buses w/DT466E. #2501107C1. | 1343180-2002584 | American Bus | 1-Each | 2 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |

| 32 | Connector, IPR Sensor. | IH buses w/DT466E. #2501107C1. | 1343180-2002584 | Boyd Truck Centers | 1-Each | 2 | | | \$0.0000 | | | |
|----|-------------------------------|--|-----------------|--------------------|---------|----|--------------------|-----------|------------|---|---------|--------------------------------|
| 32 | connector, in Ascrisor. | Bases W /5 1160E. #2501207 E1. | 1343100 1002304 | Boya Hack centers | 2 20011 | - | | | \$0.000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 33 | Connector, Windshield Washer. | #301003-1. | 1330250-1723663 | American Bus | 1-Each | 3 | OEM 301003-1 | \$5.5900 | \$16.7700 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 33 | Connector, Windshield Washer. | #301003-1. | 1330250-1723663 | Ascendance Trucks | 1-Each | 3 | | | \$0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 33 | Connector, Windshield Washer. | #301003-1. | 1330250-1723663 | Boyd Truck Centers | 1-Each | 3 | | | \$0.0000 | | | |
| | | | | , | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 34 | Coupling, 1" Brass Heat Hose. | #1301. | 1340600-1691729 | American Bus | 1-Each | 1 | OEM 1301 | \$10.1500 | \$10.1500 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | Awarueu | |
| | | | | | | | | | | | | |
| | | | | | | | | | 4 | | | |
| 34 | Coupling, 1" Brass Heat Hose. | #1301. | 1340600-1691729 | Ascendance Trucks | 1-Each | 1 | | | \$0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 34 | Coupling, 1" Brass Heat Hose. | #1301. | 1340600-1691729 | Boyd Truck Centers | 1-Each | 1 | | | \$0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 35 | Diaphragm, Stop Arm. | All type buses. #106K or #2107. | 1343060-1394969 | Ascendance Trucks | 1-Each | 25 | Navistar SMC170 | \$8.5100 | \$212.7500 | | | Rejected - incorrect part bid. |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 35 | Diaphragm, Stop Arm. | All type buses. #106K or #2107. | 1343060-1394969 | American Bus | 1-Each | 25 | SPECIALTY 106 | \$33.4000 | \$835.0000 | | | |
| | Supringary stop Arm. | A STATE OF THE STA | 15-5000-1554505 | , ancidan bus | 2 20011 | 25 | 5, 23, 4211 100 | Ç33.4000 | Ç033.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | I. | 1 | | | 1 | | 1 | 1 | 1 | | |

| 38 | Filter, Heater, Right Front. | '05 and '06 IH buses. #446637001. | 1340600-2011345 | Boyd Truck Centers | 1-Each | 20 | | | \$0.0000 | | |
|----|----------------------------------|--------------------------------------|-----------------|--------------------|--------|----|-----------------------|-----------|------------|---------|--|
| | | | | | | | | | | | |
| 39 | Filter, Heater Core, Left Front. | '02 IH bus. #2507220C1. | 1340600-2005719 | American Bus | 1-Each | 29 | OEM 2507220C1 | \$9.1000 | \$263.9000 | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| 39 | Filter, Heater Core, Left Front. | '02 IH bus. #2507220C1. | 1340600-2005719 | Ascendance Trucks | 1-Each | 29 | Navistar 2507220c1 | \$19.0000 | \$551.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 39 | Filter, Heater Core, Left Front. | '02 IH bus. #2507220C1. | 1340600-2005719 | Boyd Truck Centers | 1-Each | 29 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 40 | Flasher, Electronic. | '92 IH bus. #EF-32, #EL-12 or #7210. | 1343240-1710284 | American Bus | 1-Each | 1 | OEM EF-32 | \$5.5000 | \$5.5000 | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| 40 | Flasher, Electronic. | '92 IH bus. #EF-32, #EL-12 or #7210. | 1343240-1710284 | Ascendance Trucks | 1-Each | 1 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 40 | Flasher, Electronic. | '92 IH bus. #EF-32, #EL-12 or #7210. | 1343240-1710284 | Boyd Truck Centers | 1-Each | 1 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 41 | Flasher, Main. | Blue Bird buses. Weldon #7000. | 1343230-1712258 | American Bus | 1-Each | 1 | OEM FLASH7000 | \$83.2200 | \$83.2200 | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| 41 | Flasher, Main. | Blue Bird buses. Weldon #7000. | 1343230-1712258 | Ascendance Trucks | 1-Each | 1 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |

| 41 | Clashau Maia | Dive Died busses Welder #7000 | 1242220 1712250 | David Tavali Cantaga | 1 Fach | 1 1 | ı | 1 | ć0 0000 | | |
|----|----------------------------------|--|-----------------|----------------------|--------|-----|-----------------------|----------|-----------|---------|--|
| 41 | Flasher, Main. | Blue Bird buses. Weldon #7000. | 1343230-1712258 | Boyd Truck Centers | 1-Each | 1 | | | \$0.0000 | | |
| 42 | Gasket, Air Compressor Governor. | IH buses. #BX236577N. | 4510130-1721241 | Ascendance Trucks | 1-Each | 5 | Navistar BX236577N | \$3.2600 | \$16.3000 | Awarded | |
| 42 | Gasket, Air Compressor Governor. | IH buses. #BX236577N. | 4510130-1721241 | American Bus | 1-Each | 5 | | | \$0.0000 | | |
| 42 | Gasket, Air Compressor Governor. | IH buses. #BX236577N. | 4510130-1721241 | Boyd Truck Centers | 1-Each | 5 | | | \$0.0000 | | |
| 43 | Gasket, Compressor to Bracket. | IH buses. #83817HB. | 4510130-1254137 | Ascendance Trucks | 1-Each | 1 | Navistar 83817hb | \$8.1600 | \$8.1600 | Awarded | |
| 43 | Gasket, Compressor to Bracket. | IH buses. #83817HB. | 4510130-1254137 | American Bus | 1-Each | 1 | | | \$0.0000 | | |
| 43 | Gasket, Compressor to Bracket. | IH buses. #83817HB. | 4510130-1254137 | Boyd Truck Centers | 1-Each | 1 | | | \$0.0000 | | |
| 44 | Gasket, Rear Axle Shaft. | '01 Freightliner bus. TDA #R002435 or #11-14418-000. | 4510125-1734703 | Ascendance Trucks | 1-Each | 65 | Navistar R002435 | \$1.3000 | \$84.5000 | Awarded | |
| 44 | Gasket, Rear Axle Shaft. | '01 Freightliner bus. TDA #R002435 or #11-14418-000. | 4510125-1734703 | American Bus | 1-Each | 65 | | | \$0.0000 | | |

| 44 | Gasket, Rear Axle Shaft. | '01 Freightliner bus. TDA #R002435 or #11-14418-000. | 4510125-1734703 | Boyd Truck Centers | 1-Each | 65 | | | \$0.0000 | | |
|----|--|--|-----------------|--------------------|---------|----|-----------------------|-----------|--------------|-----------|------------------|
| 44 | dasket, hear Axie Stratt. | 0111 eightimer bus. 15A #1002435 01 #11 14410 000. | 4510125-1754705 | boya Hack centers | 1-2001 | 03 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 45 | Gasket, Thermostat. | '03 Freightliner bus w/3126 CAT. #222-5915. | 4510115-2002595 | | 1-Each | 1 | | | \$0.0000 | | No Bids Received |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 46 | Gate, Crossing, BLADE ONLY. | IH buses. #3564900C2. | 1333100-2009324 | Ascendance Trucks | 1-Each | 55 | Navistar 3564900c2 | \$57.4800 | \$3,161.4000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 46 | Gate, Crossing, BLADE ONLY. | IH buses. #3564900C2. | 1333100-2009324 | American Bus | 1-Each | 55 | OEM 3564900C2 | \$60.5500 | \$3,330.2500 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 46 | Gate, Crossing, BLADE ONLY. | IH buses. #3564900C2. | 1333100-2009324 | Boyd Truck Centers | 1-Each | 55 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 47 | Handle, Emergency Window. | '03 Thomas body bus. #TBB THSP-21001. | 1333825-2002188 | Boyd Truck Centers | 1-Each | 5 | TBB THSP21101 | \$23.3100 | \$116.5500 | | |
| | | , | | , | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 47 | Handle, Emergency Window. | '03 Thomas body bus. #TBB THSP-21001. | 1333825-2002188 | American Bus | 1-Each | 5 | OEM THSP-21001 | \$30.5000 | \$152.5000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 47 | Handle, Emergency Window. | '03 Thomas body bus. #TBB THSP-21001. | 1333825-2002188 | Ascendance Trucks | 1-Each | 5 | | | \$0.0000 | | |
| 4/ | nanuie, Emergency window. | 03 Hiolitas Body 605. #TBB TR3P-21001. | 1333023-2002108 | ASCENDANCE TRUCKS | T-EQCII | 3 | | | ŞU.UUU | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 48 | Handle, Replacement Kit, for Roof Hatch. | IH buses from Specialty Mfg. #T1975030. | 1333300-2010912 | American Bus | 1-Each | 40 | OEM T1975-030 | \$31.4900 | \$1,259.6000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Accordage | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |

| 48 | Handle, Replacement Kit, for Roof Hatch. | IH buses from Specialty Mfg. #T1975030. | 1333300-2010912 | Ascendance Trucks | 1-Each | 40 | Navistar | \$31.5200 | \$1,260.8000 | | |
|----|--|---|-----------------|---|---------|----|--------------------|------------|--------------|---------|--|
| | | | | | | | SMCT1975030 | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 48 | Handle, Replacement Kit, for Roof Hatch. | IH buses from Specialty Mfg. #T1975030. | 1333300-2010912 | Boyd Truck Centers | 1-Each | 40 | TNI 1975 030 | \$33.8600 | \$1,354.4000 | | |
| | | | | ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, | | | | , | , , | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 49 | Handle, Shifter. | '97 IH bus. #1693574C91. | 1364500-1731998 | Ascendance Trucks | 1-Each | 1 | Navistar | \$18.1200 | \$18.1200 | | |
| 49 | nandle, Siliter. | 97 In Dus. #1095574C91. | 1304300-1/31996 | Ascendance Trucks | 1-EdCII | 1 | 1693574c91 | \$18.1200 | \$18.1200 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 49 | Handle, Shifter. | '97 IH bus. #1693574C91. | 1364500-1731998 | American Bus | 1-Each | 1 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 49 | Handle, Shifter. | '97 IH bus. #1693574C91. | 1364500-1731998 | Boyd Truck Centers | 1-Each | 1 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 50 | Harness, Small, with Cam Wrap. | All type buses. #101S-25. | 7000180-1691407 | American Bus | 1-Each | 15 | OEM 101S-25 | \$141.9300 | \$2,128.9500 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 50 | Harness, Small, with Cam Wrap. | All type buses. #101S-25. | 7000180-1691407 | Ascendance Trucks | 1-Each | 15 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 50 | Harness, Small, with Cam Wrap. | All type buses. #1015-25. | 7000180-1691407 | Boyd Truck Centers | 1-Each | 15 | | | \$0.0000 | | |
| | | , | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 51 | Hatch Roof Complete Accombly for all Proces | Valeo #RH11135544A | 1333300-2010189 | American Bus | 1-Each | 5 | OEM RH11135544A | \$303.2800 | \$1,516.4000 | | |
| 21 | Hatch, Roof Complete Assembly for all Buses. | VAIEU #RELITION# USINV | 1333300-2010189 | American bus | 1-EqCII | , | OLIVI KITTTESSS44A | \$303.2000 | \$1,510.4000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |

| 1 | | | | | r | T | T = | | | | 1 | | |
|---|----|--|--|-----------------|---------------------|---------|-----|-----------------------------|------------|--------------|---|---------|--|
| 15 Parlis, Test Gerjade Austria 10 1 1 2000. 15 Parlis, Test Gerjade Austria 10 1 1 2000. 15 Parlis, Test Gerjade Austria 10 1 1 2000. 15 Parlis, Test Gerjade Austria 10 1 1 2000. 15 Parlis, Test Gerjade Austria 10 1 1 2000. 15 Parlis, Test Gerjade Austria 10 1 1 2000. 15 Parlis, Test Gerjade Austria 10 1 1 2000. 15 Parlis, Test Gerjade Austria 10 1 1 2000. 15 Parlis, Test Gerjade Austria 10 1 2000. 15 Parlis, Test Gerjade Austria 10 1 2000. 15 Parlis, Test Gerjade Austria 10 1 2000. 16 Parlis, Test Gerjade Austria 10 1 2000. 17 Parlis, Test Gerjade Austria 10 1 2000. 18 Par | 51 | Hatch, Roof Complete Assembly for all Buses. | Valeo #RH11135544A | 1333300-2010189 | Ascendance Trucks | 1-Each | 5 | Navistar SMCH19750251210 | \$369.0800 | \$1,845.4000 | | | |
| 13 18-ya Suu Arm Sanda y PESS 131000-731713 Aveadas Dan 1-0-un 150 C003327 C17-0005 51,052,0000 Amended 13 18-ya Suu Arm Sanda y PESS 131,000-731713 Geometric Touch 1-0-un 150 Naver C003327 C17-0005 51,052,0000 Amended 13 18-ya Suu Arm Sanda y PESS 131,000-731713 Geometric Touch 1-0-un 150 Naver C003300 51,050,0000 51,050,0000 51,050,0000 13 18-ya Suu Arm Sanda y PESS C00300 11,050,0000 51,050,0 | | | | | | | | | | | | | |
| 13 18-ya Suu Arm Sanda y PESS 131000-731713 Aveadas Dan 1-0-un 150 C003327 C17-0005 51,052,0000 Amended 13 18-ya Suu Arm Sanda y PESS 131,000-731713 Geometric Touch 1-0-un 150 Naver C003327 C17-0005 51,052,0000 Amended 13 18-ya Suu Arm Sanda y PESS 131,000-731713 Geometric Touch 1-0-un 150 Naver C003300 51,050,0000 51,050,0000 51,050,0000 13 18-ya Suu Arm Sanda y PESS C00300 11,050,0000 51,050,0 | | | | | | | | | | | | | |
| 13 18496 Stotu Arm Specially \$P 1607 1391006-739173 Annotation Stotu 1391006-739173 Annota | | | | | | | | | | | | | |
| | | | | | | | | | | | | | |
| | | | | | | | | | | | | | |
| | 51 | Hatch, Roof Complete Assembly for all Buses. | Valeo #RH11135544A | 1333300-2010189 | Boyd Truck Centers | 1-Fach | 5 | | | \$0.0000 | | | |
| Australia 132 Frequ. Hosp. Ann. Specially ASSES. 334888.374712 Anominion Fronts 35488.374712 Anominion Fronts 35488.374712 Anominion Fronts 35488.374712 Sept. Phys. 35 | 31 | natar, noor complete rissensity for all bases. | Valco mini 1113554-17. | 1333300 2010103 | Doya Hack centers | 1 20011 | | | | \$0.0000 | | | |
| Australia 132 Frequ. Hosp. Ann. Specially ASSES. 334888.374712 Anominion Fronts 35488.374712 Anominion Fronts 35488.374712 Anominion Fronts 35488.374712 Sept. Phys. 35 | | | | | | | | | | | | | |
| Australia 132 Frequ. Hosp. Ann. Specially ASSES. 334888.374712 Anominion Fronts 35488.374712 Anominion Fronts 35488.374712 Anominion Fronts 35488.374712 Sept. Phys. 35 | | | | | | | | | | | | | |
| Australia 132 Frequ. Hosp. Ann. Specially ASSES. 334888.374712 Anominion Fronts 35488.374712 Anominion Fronts 35488.374712 Anominion Fronts 35488.374712 Sept. Phys. 35 | | | | | | | | | | | | | |
| Australia 132 Frequ. Hosp. Ann. Specially ASSES. 334888.374712 Anominion Fronts 35488.374712 Anominion Fronts 35488.374712 Anominion Fronts 35488.374712 Sept. Phys. 35 | | | | | | | | | | | | | |
| Australia 132 Frequ. Hosp. Ann. Specially ASSES. 334888.374712 Anominion Fronts 35488.374712 Anominion Fronts 35488.374712 Anominion Fronts 35488.374712 Sept. Phys. 35 | | | | | | | | | | | | | |
| \$2 WINGE Stop Jam. \$500-03ft \$2287. \$1540000 1724713 Accordance Trucks \$1 \$400 30 \$00000000 \$0000016779 \$49,2000 \$44,479,0000 \$0000016779 \$49,2000 \$44,479,0000 \$0000016779 \$49,2000 \$44,479,0000 \$00000000000000000000000000000000 | 52 | Hinge, Stop Arm. | Specialty #2167. | 1343060-1734713 | American Bus | 1-Each | 30 | OEM 2167 | \$35.5500 | \$1,066.5000 | | | |
| \$2 WINGE Stop Jam. \$500-03ft \$2287. \$1540000 1724713 Accordance Trucks \$1 \$400 30 \$00000000 \$0000016779 \$49,2000 \$44,479,0000 \$0000016779 \$49,2000 \$44,479,0000 \$0000016779 \$49,2000 \$44,479,0000 \$00000000000000000000000000000000 | | | | | | | | | | | | | |
| \$2 WINGE Stop Jam. \$500-03ft \$2287. \$1540000 1724713 Accordance Trucks \$1 \$400 30 \$00000000 \$0000016779 \$49,2000 \$44,479,0000 \$0000016779 \$49,2000 \$44,479,0000 \$0000016779 \$49,2000 \$44,479,0000 \$00000000000000000000000000000000 | | | | | | | | | | | | | |
| Security 2247. 1340069 2734713 Boyd Trees Centers 1 Sport 1 Sp | | | | | | | | | | | | Awarded | |
| Security 2247. 1340069 2734713 Boyd Trees Centers 1 Sport 1 Sp | | | | | | | | | | | | | |
| Security 2247. 1340069 2734713 Boyd Trees Centers 1 Sport 1 Sp | | | | | | | | | | | | | |
| Security 2247. 1340069 2734713 Boyd Trees Centers 1 Sport 1 Sp | | | | | | | | | | | | | |
| 12 Trage, Step Aves. Spensity #7807. 1343906-1734713 Reys Truck Centers 3-fash 30 American Bus 2-fach 55 FIAMM-I-SHIPONICAL 513.8000 FRES. S13.8000 American Bus 3-fash 53 Rems. 11 Envi 15. C1 Freightliner Buses. 666-0178-009 or WING1200215. 134336-2033466 American Bus 3-fash 55 FIAMM-I-SHIPONICAL 513.8000 FRES. S13.8000 FRES. S13.8000 FRES. S13.8000 American Bus 3-fash 50 FRES. S13.8000 FRES. S13.80000 FRES. S13.800000 FRES. S13.800000 FRES. S13.800000 FRES. S13.800000 FRES. S13.800000 FRES. S13.800000 FRES. S13.8000000000000000000000000000000000000 | 52 | Hinge, Stop Arm. | Specialty #2167. | 1343060-1734713 | Ascendance Trucks | 1-Each | 30 | | \$49.3200 | \$1,479.6000 | | | |
| 53 Horn. 11 thru 15, C2 Freightfrom Buses. 866-91788-009 or 8FMS1200215. 1343339-2013646 American Bus. 1 Fach 55 FRAMM HORNOUAL 513-8000 5783-0000 Awarded 33 Horn. 12 thru 15, C2 Freightfrom Buses. 866-91788-009 or 8FMS1200215. 1343390-2013646 Ascendance Trucks 1-Each 55 500000 5000000 5000000 5000000 5000000 | | | | | | | | 3WC0021673P | | | | | |
| 53 Horn. 11 thru 15, C2 Freightfrom Buses. 866-91788-009 or 8FMS1200215. 1343339-2013646 American Bus. 1 Fach 55 FRAMM HORNOUAL 513-8000 5783-0000 Awarded 33 Horn. 12 thru 15, C2 Freightfrom Buses. 866-91788-009 or 8FMS1200215. 1343390-2013646 Ascendance Trucks 1-Each 55 500000 5000000 5000000 5000000 5000000 | | | | | | | | | | | | | |
| 53 Horn. 11 thru 15, C2 Freightfrom Buses. 866-91788-009 or 8FMS1200215. 1343339-2013646 American Bus. 1 Fach 55 FRAMM HORNOUAL 513-8000 5783-0000 Awarded 33 Horn. 12 thru 15, C2 Freightfrom Buses. 866-91788-009 or 8FMS1200215. 1343390-2013646 Ascendance Trucks 1-Each 55 500000 5000000 5000000 5000000 5000000 | | | | | | | | | | | | | |
| 53 Horn. 11 thru 15, C2 Freightfrom Buses. 866-91788-009 or 8FMS1200215. 1343339-2013646 American Bus. 1 Fach 55 FRAMM HORNOUAL 513-8000 5783-0000 Awarded 33 Horn. 12 thru 15, C2 Freightfrom Buses. 866-91788-009 or 8FMS1200215. 1343390-2013646 Ascendance Trucks 1-Each 55 500000 5000000 5000000 5000000 5000000 | | | | | | | | | | | | | |
| 53 Horn. 11 thru 15, C2 Freightfrom Buses. 866-91788-009 or 8FMS1200215. 1343339-2013646 American Bus. 1 Fach 55 FRAMM HORNOUAL 513-8000 5783-0000 Awarded 33 Horn. 12 thru 15, C2 Freightfrom Buses. 866-91788-009 or 8FMS1200215. 1343390-2013646 Ascendance Trucks 1-Each 55 500000 5000000 5000000 5000000 5000000 | | | | | | | | | | | | | |
| 53 Horn. 11 thru 15, C2 Freightfrom Ruses. 866-91788-009 or 8FMS1200215. 1343339-2013646 American Bus 1-Fach 55 FRAMM HORNOUAL 513-8000 5783-0000 Awarded 33 Horn. 12 thru 15, C2 Freightfrom Buses. 866-91788-009 or 8FMS1200215. 1343390-2013646 Ascendance Trucks 1-Fach 55 5000000 34 Horn. 12 thru 15, C2 Freightfrom Buses. 866-91788-009 or 8FMS1200215. 1343390-2013646 Boyd Truck Centers 3-Fach 55 5000000000000000000000000000000000 | 52 | Wass Charles | C | 4242000 4724742 | Decid Total Control | 4.5 | 20 | | | £0.0000 | | | |
| Awarded Norn. 11 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Ascendance Trucks 1-Each 55 50.0000 Norn. 11 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Boyd Truck Centers 1-Each 55 50.0000 Norn. 11 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Boyd Truck Centers 1-Each 55 50.0000 Norn. 10 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Boyd Truck Centers 1-Each 55 50.0000 Norn. 11 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Boyd Truck Centers 1-Each 55 50.0000 Society Science Scie | 52 | Hinge, Stop Arm. | Specialty #2167. | 1343060-1/34/13 | Boyd Truck Centers | 1-Each | 30 | | | \$0.0000 | | | |
| Awarded Norn. 11 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Ascendance Trucks 1-Each 55 50.0000 Norn. 11 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Boyd Truck Centers 1-Each 55 50.0000 Norn. 11 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Boyd Truck Centers 1-Each 55 50.0000 Norn. 10 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Boyd Truck Centers 1-Each 55 50.0000 Norn. 11 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Boyd Truck Centers 1-Each 55 50.0000 Society Science Scie | | | | | | | | | | | | | |
| Awarded Norn. 11 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Ascendance Trucks 1-Each 55 50.0000 Norn. 11 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Boyd Truck Centers 1-Each 55 50.0000 Norn. 11 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Boyd Truck Centers 1-Each 55 50.0000 Norn. 10 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Boyd Truck Centers 1-Each 55 50.0000 Norn. 11 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Boyd Truck Centers 1-Each 55 50.0000 Society Science Scie | | | | | | | | | | | | | |
| Awarded Norn. 11 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Ascendance Trucks 1-Each 55 50.0000 Norn. 11 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Boyd Truck Centers 1-Each 55 50.0000 Norn. 11 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Boyd Truck Centers 1-Each 55 50.0000 Norn. 10 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Boyd Truck Centers 1-Each 55 50.0000 Norn. 11 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Boyd Truck Centers 1-Each 55 50.0000 Society Science Scie | | | | | | | | | | | | | |
| Awarded Norn. 11 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Ascendance Trucks 1-Each 55 50.0000 Norn. 11 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Boyd Truck Centers 1-Each 55 50.0000 Norn. 11 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Boyd Truck Centers 1-Each 55 50.0000 Norn. 10 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Boyd Truck Centers 1-Each 55 50.0000 Norn. 11 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Boyd Truck Centers 1-Each 55 50.0000 Society Science Scie | | | | | | | | | | | | | |
| Awarded Norn. 11 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Ascendance Trucks 1-Each 55 50.0000 Norn. 11 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Boyd Truck Centers 1-Each 55 50.0000 Norn. 11 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Boyd Truck Centers 1-Each 55 50.0000 Norn. 10 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Boyd Truck Centers 1-Each 55 50.0000 Norn. 11 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Boyd Truck Centers 1-Each 55 50.0000 Society Science Scie | | | | | | | | | | | | | |
| Awarded Norn. 11 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Ascendance Trucks 1-Each 55 50.0000 Norn. 11 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Boyd Truck Centers 1-Each 55 50.0000 Norn. 11 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Boyd Truck Centers 1-Each 55 50.0000 Norn. 10 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Boyd Truck Centers 1-Each 55 50.0000 Norn. 11 thru '15, C2 Freightliner Buses. #66-01789-009 or #FIA51200215. 1343330-2013646 Boyd Truck Centers 1-Each 55 50.0000 Society Science Scie | 53 | Horn. | 11 thru '15, C2 Freightliner Buses, #66-01788-009 or #FIA51200215. | 1343330-2013646 | American Bus | 1-Each | 55 | FIAMM HORNDUAL | \$13.8800 | \$763,4000 | | | |
| 53 Horn. 11 thru '15, C2 Freightliner Buses. #66-01788-009 or #FA51200215. 1343330-2013646 Ascendance Trucks 1-Each 55 50,0000 50,0000 50,0000 50,0000 50,0000 50,0000 50,0000 50,0000 50,00000 50,0000 50,0000 50,0000 50,0000 50,0000 50,0000 50,0000 50,00000 50,00 | | | | | | | | | | | | | |
| 53 Horn. 11 thru '15, C2 Freightliner Buses. #66-01788-009 or #FA51200215. 1343330-2013646 Ascendance Trucks 1-Each 55 50,0000 50,0000 50,0000 50,0000 50,0000 50,0000 50,0000 50,0000 50,00000 50,0000 50,0000 50,0000 50,0000 50,0000 50,0000 50,0000 50,00000 50,00 | | | | | | | | | | | | | |
| 53 Horn. 11 thru '15, C2 Freightliner Buses. #66-01788-009 or #FA51200215. 1343330-2013646 Ascendance Trucks 1-Each 55 50,0000 50,0000 50,0000 50,0000 50,0000 50,0000 50,0000 50,0000 50,00000 50,0000 50,0000 50,0000 50,0000 50,0000 50,0000 50,0000 50,00000 50,00 | | | | | | | | | | | | Awarded | |
| 53 Horn. 11 thru '15, C2 Freightliner Buses. #66-01788-009 or #FIA51200215. 1343330-2013646 Boyd Truck Centers 1-Each 55 \$0.0000 54 Hose, Fuel, Flexible Supply. 06 IH bus w/VT365. #1840538c92. 4750350-2010261 Ascendance Trucks 1-Each 1 Navistar 1840538c92 \$65.8000 | | | | | | | | | | | | | |
| 53 Horn. 11 thru '15, C2 Freightliner Buses. #66-01788-009 or #FIA51200215. 1343330-2013646 Boyd Truck Centers 1-Each 55 \$0.0000 54 Hose, Fuel, Flexible Supply. 06 IH bus w/VT365. #1840538c92. 4750350-2010261 Ascendance Trucks 1-Each 1 Navistar 1840538c92 \$65.8000 | | | | | | | | | | | | | |
| 53 Horn. 11 thru '15, C2 Freightliner Buses. #66-01788-009 or #FIA51200215. 1343330-2013646 Boyd Truck Centers 1-Each 55 \$0.0000 54 Hose, Fuel, Flexible Supply. 06 IH bus w/VT365. #1840538c92. 4750350-2010261 Ascendance Trucks 1-Each 1 Navistar 1840538c92 \$65.8000 | | | | | | | | | | | | | |
| 54 Hose, Fuel, Flexible Supply. 06 IH bus w/VT365. #1840538C92. 4750350-2010261 Ascendance Trucks 1-Each 1 Navistar 1840538c92 \$65.8000 \$65.8000 | 53 | Horn. | 11 thru '15, C2 Freightliner Buses. #66-01788-009 or #FIA5120021S. | 1343330-2013646 | Ascendance Trucks | 1-Each | 55 | | | \$0.0000 | | | |
| 54 Hose, Fuel, Flexible Supply. 06 IH bus w/VT365. #1840538C92. 4750350-2010261 Ascendance Trucks 1-Each 1 Navistar 1840538c92 \$65.8000 \$65.8000 | | | | | | | | | | | | | |
| 54 Hose, Fuel, Flexible Supply. 06 IH bus w/VT365. #1840538C92. 4750350-2010261 Ascendance Trucks 1-Each 1 Navistar 1840538c92 \$65.8000 \$65.8000 | | | | | | | | | | | | | |
| 54 Hose, Fuel, Flexible Supply. 06 IH bus w/VT365. #1840538C92. 4750350-2010261 Ascendance Trucks 1-Each 1 Navistar 1840538c92 \$65.8000 \$65.8000 | | | | | | | | | | | | | |
| 54 Hose, Fuel, Flexible Supply. 06 IH bus w/VT365. #1840538C92. 4750350-2010261 Ascendance Trucks 1-Each 1 Navistar 1840538c92 \$65.8000 \$65.8000 | | | | | | | | | | | | | |
| 54 Hose, Fuel, Flexible Supply. 06 IH bus w/VT365. #1840538C92. 4750350-2010261 Ascendance Trucks 1-Each 1 Navistar 1840538c92 \$65.8000 \$65.8000 | | | | | | | | | | | | | |
| 54 Hose, Fuel, Flexible Supply. 06 IH bus w/VT365. #1840538C92. 4750350-2010261 Ascendance Trucks 1-Each 1 Navistar 1840538c92 \$65.8000 \$65.8000 | | | | | | | | | | | | | |
| 1840538c92 | 53 | Horn. | 11 thru '15, C2 Freightliner Buses. #66-01788-009 or #FIA5120021S. | 1343330-2013646 | Boyd Truck Centers | 1-Each | 55 | | | \$0.0000 | | | |
| 1840538c92 | Ī | | | | | | | | | | | | |
| 1840538c92 | | | | | | | | | | | | | |
| 1840538c92 | | | | | | | | | | | | | |
| 1840538c92 | | | | | | | | | | | | | |
| 1840538c92 | | | | | | | | | | | | | |
| 1840538c92 | 54 | Hose, Fuel, Flexible Supply. | 06 IH bus w/VT365. #1840538C92. | 4750350-2010261 | Ascendance Trucks | 1-Each | 1 | Navistar | \$65.8000 | \$65.8000 | | | |
| Awarded | | | | | | | | | | | | | |
| Awarded Company of the Company of th | | | | | | | | | | | | | |
| | | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | | |
| | | | | | | | | | | | | | |
| | | | | | | | | | | | | | |

| March Procedure Colored Colo | 54 | Heen Fred Florible Creats | 06 IH bus w/VT365. #1840538C92. | 4750350-2010261 | American Due | 1-Each | 1 | | | \$0.0000 | | |
|---|----|--------------------------------|-----------------------------------|-----------------|--------------------|---------|----|--------------------|-----------|------------|---------|--|
| 2 14 15 15 15 15 15 15 15 | 34 | nose, ruei, riexible supply. | 00 III Dus W/ V1303. #1040336C32. | 4/30330-2010201 | American bus | 1-Edill | 1 | | | 30.0000 | | |
| 130 Aug Windows (Modeller) | | | | | | | | | | | | |
| 130 Aug Windows (Modeller) | | | | | | | | | | | | |
| 130 Aug Windows (Modeller) | | | | | | | | | | | | |
| 2 14 15 15 15 15 15 15 15 | | | | | | | | | | | | |
| 130 Aug Windows (Modeller) | | | | | | | | | | | | |
| Awarded 15 | 54 | Hose, Fuel, Flexible Supply. | 06 IH bus w/VT365. #1840538C92. | 4750350-2010261 | Boyd Truck Centers | 1-Each | 1 | | | \$0.0000 | | |
| Awarded 15 | | | | | | | | | | | | |
| Available Value September | | | | | | | | | | | | |
| Available Value September | | | | | | | | | | | | |
| Available Value September | | | | | | | | | | | | |
| Available Value September | | | | | | | | | | | | |
| Awarded 15 | 55 | Jug, Windshield Washer. | Ward buses. #065303. | 1330250-1710200 | American Bus | 1-Each | 5 | OEM 300700-1 | \$39.9500 | \$199.7500 | | |
| 55 Hig. Westbrief Westber Ward bases 4601032 \$18076-1712200 Accordance trads \$1.64ch \$ barriar \$50.0000 \$400.0000 \$4 | | - | | | | | | | | | | |
| 55 Hig. Westbrief Westber Ward bases 4601032 \$18076-1712200 Accordance trads \$1.64ch \$ barriar \$50.0000 \$400.0000 \$4 | | | | | | | | | | | | |
| 224-600001 55 Aug-Windowski Warder. Ward bases-605301. 1330206-7710200 Royd Trick Centers 1-Fach 5 30,0000 56 KL (B Up-Switch, Brown Lift. Brown 8225985. 1333206-1799627 American Bus 1-Each 10 OEM 253905 5520-2000 Awarded 56 KL (B Up-Switch, Brown Lift. Brown 8225985. 1333206-1799627 Autonolone Triuds 1-Each 10 S0,0000 56 KL (B Up-Switch, Brown Lift. Brown 8225985. 1333206-1799627 Registration for the second secon | | | | | | | | | | | Awarded | |
| 224-600001 55 Aug-Windowski Warder. Ward bases-605301. 1330206-7710200 Royd Trick Centers 1-Fach 5 30,0000 56 KL (B Up-Switch, Brown Lift. Brown 8225985. 1333206-1799627 American Bus 1-Each 10 OEM 253905 5520-2000 Awarded 56 KL (B Up-Switch, Brown Lift. Brown 8225985. 1333206-1799627 Autonolone Triuds 1-Each 10 S0,0000 56 KL (B Up-Switch, Brown Lift. Brown 8225985. 1333206-1799627 Registration for the second secon | | | | | | | | | | | | |
| 224-600001 55 Aug-Windowski Warder. Ward bases-605301. 1330206-7710200 Royd Trick Centers 1-Fach 5 30,0000 56 KL (B Up-Switch, Brown Lift. Brown 8225985. 1333206-1799627 American Bus 1-Each 10 OEM 253905 5520-2000 Awarded 56 KL (B Up-Switch, Brown Lift. Brown 8225985. 1333206-1799627 Autonolone Triuds 1-Each 10 S0,0000 56 KL (B Up-Switch, Brown Lift. Brown 8225985. 1333206-1799627 Registration for the second secon | | | | | | | | | | | | |
| 224-600001 55 Aug-Windowski Warder. Ward bases-605301. 1330206-7710200 Royd Trick Centers 1-Fach 5 30,0000 56 KL (B Up-Switch, Brown Lift. Brown 8225985. 1333206-1799627 American Bus 1-Each 10 OEM 253905 5520-2000 Awarded 56 KL (B Up-Switch, Brown Lift. Brown 8225985. 1333206-1799627 Autonolone Triuds 1-Each 10 S0,0000 56 KL (B Up-Switch, Brown Lift. Brown 8225985. 1333206-1799627 Registration for the second secon | | | | | | | _ | | 400 | 4.00 | | |
| \$5 Aug. Woodbled Washer. Wood buses. 8965303. 1330250-2710000 Buyl Truck Centure. 1 & Each \$ 50,0000 \$6, 81, 81g-Seetch, Brown Life. Brown 822339CS. 1333220-2709017 Accerdance Trucks: 1-Each 10 COM 82239CS 5532,0000 \$500,0000 Americal Buyl Seetch, Brown Life. Brown 822339CS. 1333220-2709017 Accerdance Trucks: 1-Each 10 Society Seetch, Brown Life. Brown 822339CS. 1333220-2709017 Accerdance Trucks: 1-Each 10 Society Seetch, Brown Life. Brown 822339CS. 1333220-2709017 Buyl Truck Centure. 1-Each 10 Society Seetch, Brown Life. Brown 822339CS. 1333220-2709017 Buyl Truck Centure. 1-Each 10 Society Seetch, Brown Life. Brown 822339CS. 1333220-2709017 Buyl Truck Centure. 1-Each 10 Society Seetch | 55 | Jug, Windshield Washer. | Ward buses. #065303. | 1330250-1710200 | Ascendance Trucks | 1-Each | 5 | | \$80.0000 | \$400.0000 | | |
| 56 RG, 18 Up-Switch, Braun Uft. Braun #3259RS. 1333250-1709617 American Bus 1-Each 10 OEM 3259RS 552,0000 5520,2000 Awarded 56 RG, 18 Up-Switch, Braun Uft. Braun Eft. Braun #3259RS. 1333250-1709617 Ascendance Trucks 1-Each 10 50,0000 56 RG, 18 Up-Switch, Braun Uft. Braun #3259RS. 1333250-1709617 Boyd Truck Centers 1-Each 10 50,0000 57 RG, 18 Up-Switch, Braun Uft. Braun #3259RS. 1333250-1709617 Boyd Truck Centers 1-Each 10 50,0000 | | | | | | | | | | | | |
| 56 RG, 18 Up-Switch, Braun Uft. Braun #3259RS. 1333250-1709617 American Bus 1-Each 10 OEM 3259RS 552,0000 5520,2000 Awarded 56 RG, 18 Up-Switch, Braun Uft. Braun Eft. Braun #3259RS. 1333250-1709617 Ascendance Trucks 1-Each 10 50,0000 56 RG, 18 Up-Switch, Braun Uft. Braun #3259RS. 1333250-1709617 Boyd Truck Centers 1-Each 10 50,0000 57 RG, 18 Up-Switch, Braun Uft. Braun #3259RS. 1333250-1709617 Boyd Truck Centers 1-Each 10 50,0000 | | | | | | | | | | | | |
| 1 | | | | | | | | | | | | |
| 56 RG, 18 Up-Switch, Braun Uft. Braun #3259RS. 1333250-1709617 American Bus 1-Each 10 OEM 3259RS 552,0000 5520,2000 Awarded 56 RG, 18 Up-Switch, Braun Uft. Braun Eft. Braun #3259RS. 1333250-1709617 Ascendance Trucks 1-Each 10 50,0000 56 RG, 18 Up-Switch, Braun Uft. Braun #3259RS. 1333250-1709617 Boyd Truck Centers 1-Each 10 50,0000 57 RG, 18 Up-Switch, Braun Uft. Braun #3259RS. 1333250-1709617 Boyd Truck Centers 1-Each 10 50,0000 | | | | | | | | | | | | |
| 56 RG, 18 Up-Switch, Braun Uft. Braun #3259RS. 1333250-1709617 American Bus 1-Each 10 OEM 3259RS 552,0000 5520,2000 Awarded 56 RG, 18 Up-Switch, Braun Uft. Braun Eft. Braun #3259RS. 1333250-1709617 Ascendance Trucks 1-Each 10 50,0000 56 RG, 18 Up-Switch, Braun Uft. Braun #3259RS. 1333250-1709617 Boyd Truck Centers 1-Each 10 50,0000 57 RG, 18 Up-Switch, Braun Uft. Braun #3259RS. 1333250-1709617 Boyd Truck Centers 1-Each 10 50,0000 | | | | | | | | | | | | |
| Awarded Solution | 55 | Jug, Windshield Washer. | Ward buses. #065303. | 1330250-1710200 | Boyd Truck Centers | 1-Each | 5 | | | \$0.0000 | | |
| Awarded Solution | | | | | | | | | | | | |
| Awarded Solution | | | | | | | | | | | | |
| Awarded Selection Section Sec | | | | | | | | | | | | |
| Awarded Selection Section Sec | | | | | | | | | | | | |
| Awarded Selection Section Sec | | | | | | | | | | | | |
| Awarded Selection Section Sec | EG | Vit ID I In Switch Brown Lift | Praun #22E10VC | 1222250 1700617 | American Rus | 1 Fach | 10 | OEM 22510VS | ¢52,0200 | \$520,2000 | | |
| 56 Kit, IB Up-Switch, Braun Lift. Braun #32519KS. 1333250-1709617 Ascendance Trucks 1-Each 10 \$0.0000 | 30 | Kit, ib Op-Switch, Braun Eirt. | biduii #32313K3. | 1333230-1703017 | American bus | 1-Eacii | 10 | OEW 32313K3 | \$32.0200 | \$320.2000 | | |
| 56 Kit, IB Up-Switch, Braun Lift. Braun #32519KS. 1333250-1709617 Ascendance Trucks 1-Each 10 \$0.0000 | | | | | | | | | | | | |
| 56 Kit, IB Up-Switch, Braun Lift. Braun #32519KS. 1333250-1709617 Ascendance Trucks 1-Each 10 \$0.0000 | | | | | | | | | | | Awarded | |
| S6 Kit, IB Up-Switch, Braun Lift. Braun #32519KS. 1333250-1709617 Boyd Truck Centers 1-Each 10 \$0.0000 | | | | | | | | | | | | |
| S6 Kit, IB Up-Switch, Braun Lift. Braun #32519KS. 1333250-1709617 Boyd Truck Centers 1-Each 10 \$0.0000 | | | | | | | | | | | | |
| S6 Kit, IB Up-Switch, Braun Lift. Braun #32519KS. 1333250-1709617 Boyd Truck Centers 1-Each 10 \$0.0000 | | | | | | | | | | | | |
| 57 Kit, Reflector, Triangle. All type buses. #219 or #5A1005. 1343600-1673322 Ascendance Trucks 1-Each 5 Navistar \$23.5800 \$117.9000 | 56 | Kit, IB Up-Switch, Braun Lift. | Braun #32519KS. | 1333250-1709617 | Ascendance Trucks | 1-Each | 10 | | | \$0.0000 | | |
| 57 Kit, Reflector, Triangle. All type buses. #219 or #5A1005. 1343600-1673322 Ascendance Trucks 1-Each 5 Navistar \$23.5800 \$117.9000 | | | | | | | | | | | | |
| 57 Kit, Reflector, Triangle. All type buses. #219 or #5A1005. 1343600-1673322 Ascendance Trucks 1-Each 5 Navistar \$23.5800 \$117.9000 | | | | | | | | | | | | |
| 57 Kit, Reflector, Triangle. All type buses. #219 or #5A1005. 1343600-1673322 Ascendance Trucks 1-Each 5 Navistar \$23.5800 \$117.9000 | | | | | | | | | | | | |
| 57 Kit, Reflector, Triangle. All type buses. #219 or #5A1005. 1343600-1673322 Ascendance Trucks 1-Each 5 Navistar \$23.5800 \$117.9000 | | | | | | | | | | | | |
| 57 Kit, Reflector, Triangle. All type buses. #219 or #5A1005. 1343600-1673322 Ascendance Trucks 1-Each 5 Navistar \$23.5800 \$117.9000 | | | | | | | | | | | | |
| 57 Kit, Reflector, Triangle. All type buses. #219 or #5A1005. 1343600-1673322 Ascendance Trucks 1-Each 5 Navistar \$23.5800 \$117.9000 | 56 | Kit, IB Up-Switch, Braun Lift. | Braun #32519KS. | 1333250-1709617 | Boyd Truck Centers | 1-Each | 10 | | | \$0.0000 | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | 57 | Via Dellante Triviale | All huma human #240 #C44005 | 1242000 467222 | Assendance Touris | 4 5 1- | _ | Maritana | 622 5000 | Ć117.0000 | | |
| | 57 | Kit, Reflector, Triangle. | All type buses. #219 or #SA1005. | 1343600-1673322 | Ascendance Trucks | 1-Each | 5 | Navistar 798AXL | \$23.5800 | \$117.9000 | | |
| | | | | | | | | | | | | |
| Awarded | | | | | | | | | | | Awarded | |
| Awarded | | | | | | | | | | | Awarueu | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |

| | | | | | | | | | 4 | | |
|----|---|---|-----------------|--------------------|--------|----|-------------------------|------------|--------------|------|------------------|
| 57 | Kit, Reflector, Triangle. | All type buses. #219 or #5A1005. | 1343600-1673322 | American Bus | 1-Each | 5 | OEM TRIKITSM | \$29.9800 | \$149.9000 | | |
| | Kit, Reflector, Triangle. | All type buses. #219 or #SA1005. | | Boyd Truck Centers | | | | | | | |
| 58 | Kit, Stop Arm Lens. Red. | All type buses. Specialty Mfg. #194K. | 1343360-1296280 | American Bus | 1-Each | 1 | OEM 194K | \$14.2200 | \$14.2200 | Awar | ed |
| 58 | Kit, Stop Arm Lens. Red. | All type buses. Specialty Mfg. #194K. | 1343360-1296280 | Ascendance Trucks | 1-Each | 1 | Navistar SMC0004317k | \$87.9500 | \$87.9500 | | |
| 58 | Kit, Stop Arm Lens. Red. | All type buses. Specialty Mfg. #194K. | 1343360-1296280 | Boyd Truck Centers | 1-Each | 1 | | | \$0.0000 | | |
| 59 | Kit, Stop Arm Light, Consists of all 4 LED Lights and Wiring. | Newer models Freightliner & IH buses. #ECVR12SAK. | 1343060-2012871 | American Bus | 1-Each | 40 | OEM ECVR12SAK | \$95.1900 | \$3,807.6000 | Awar | ed |
| 59 | Kit, Stop Arm Light, Consists of all 4 LED Lights and Wiring. | Newer models Freightliner & IH buses. #ECVR12SAK. | 1343060-2012871 | Ascendance Trucks | 1-Each | 40 | Navistar SO110WA0012 | \$100.3700 | \$4,014.8000 | | |
| 59 | Kit, Stop Arm Light, Consists of all 4 LED Lights and Wiring. | Newer models Freightliner & IH buses. #ECVR12SAK. | 1343060-2012871 | Boyd Truck Centers | 1-Each | 40 | | | \$0.0000 | | |
| 60 | Kit, to Convert to Air Operated Crossing Gate, Includes Arm. | '03 thru '07 Freightliner buses. SMI #028320. | 1333100-2012626 | | 1-Each | 1 | | | \$0.0000 | | No Bids Received |

| 61 | Lamp, Back up / Turn Signal. | #3057 | 5000040-1026395 | American Bus | 1-Each | 10 | | 1 | \$0.0000 | | No Bids Received |
|----|--|---|-----------------|-----------------------|---------|----|-----------------------|-----------|------------|---------|------------------|
| 01 | camp, sack up / ram signal. | 5657 | 3000010 1020333 | 7 theream bus | 1 20011 | 10 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 62 | Latch, Kit, for Side Windows. | Various years, Freightliner buses w/Thomas body. #THSP 24001. | 1333825-2012307 | Boyd Truck Centers | 1-Each | 1 | TBB THSP 24001 | \$6.2200 | \$6.2200 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 62 | Latch, Kit, for Side Windows. | Various years, Freightliner buses w/Thomas body. #THSP 24001. | 1333825-2012307 | American Bus | 1-Each | 1 | OEM THSP24001 | \$11.3300 | \$11.3300 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | Labab Wik Fac City Minds | Verina and Freinhillings have 7th and 1000 Co. | 4222025 2042205 | Assessed as a Toronto | 15 | | | | ć0.0000 | | |
| 62 | Latch, Kit, for Side Windows. | Various years, Freightliner buses w/Thomas body. #THSP 24001. | 1333825-2012307 | Ascendance Trucks | 1-Each | 1 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 63 | Latch, R.H. Window. | Amtran buses. #434869007. | 1333825-1726149 | | 1-Each | 1 | | | \$0.0000 | | No Bids Received |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 64 | Latch, Outside Electrical Panel Door. | IH buses. #441154002 or #3779766C1. | 1333300-2010188 | American Bus | 1-Each | 15 | OEM 441154002 | \$25.4600 | \$381.9000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | Little Control State Control | 111 | 4222200 | | 4.5 | - | No. 2 | 640 | 6707 0000 | | |
| 64 | Latch, Outside Electrical Panel Door. | IH buses. #441154002 or #3779766C1. | 1333300-2010188 | Ascendance Trucks | 1-Each | 15 | Navistar 3779766c1 | \$48.4700 | \$727.0500 | | |
| | | | | | | | 2.1270002 | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 64 | Latch, Outside Electrical Panel Door. | IH buses. #441154002 or #3779766C1. | 1333300-2010188 | Boyd Truck Centers | 1-Each | 15 | | | \$0.0000 | | |
| 34 | Lotting October Execution Father Door. | 50553. 11.1115.002 OF #3775700C1. | 200000-2010100 | Doya mack centers | 2 2001 | | | | \$5.5000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 65 | Latch, Outside Electrical Panel Door. | '03 and '04 Freightliner buses w/Thomas body. #TBB 64009870. | 1333300-2010793 | Boyd Truck Centers | 1-Each | 35 | TBB 154842 | \$18.3400 | \$641.9000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |

| 65 | Latch, Outside Electrical Panel Door. | '03 and '04 Freightliner buses w/Thomas body. #TBB 64009870. | 1333300-2010793 | American Bus | 1-Each | 35 | OEM 64009870 | \$27.4600 | \$961.1000 | I | | 1 |
|----|--|--|-----------------|--------------------|---------|----|------------------|-----------|--------------|---|---------|---|
| 03 | Eater, Outside Electrical Faller Boot. | os and of reignamer bases wy mornas body. #155 04005070. | 1333300 2010733 | American bus | 1-Each | 33 | OEIVI 04003870 | \$27.4000 | \$501.1000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 65 | Latch, Outside Electrical Panel Door. | '03 and '04 Freightliner buses w/Thomas body. #TBB 64009870. | 1333300-2010793 | Ascendance Trucks | 1-Each | 35 | | | \$0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 66 | Latch, Window, Thumb. | '05 and '06 IH buses. #2610206C92. | 1333825-2008845 | American Bus | 1-Each | 60 | OEM 2610206C92 | \$29.7400 | \$1,784.4000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 66 | Latch, Window, Thumb. | '05 and '06 IH buses. #2610206C92. | 1333825-2008845 | Ascendance Trucks | 1-Each | 60 | Navistar | \$33.2100 | \$1,992.6000 | | | |
| 00 | Lateri, Willidow, Illumb. | 03 and 00 in bases. #2010200032. | 1333023-2000043 | ASCENDANCE TRUCKS | 1-54011 | 00 | 2610206c92 | 333.Z1UU | 31,352.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 66 | Latch, Window, Thumb. | '05 and '06 IH buses. #2610206C92. | 1333825-2008845 | Boyd Truck Centers | 1-Each | 60 | | | \$0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 67 | Lens. Red. | All type buses. Weldon #1020 or #1004-1. | 1343360-1253987 | Boyd Truck Centers | 1-Each | 1 | WTE 0C20 2312 10 | \$13.8500 | \$13.8500 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 67 | Lens. Red. | All type buses. Weldon #1020 or #1004-1. | 1343360-1253987 | American Bus | 1-Each | 1 | 1 | | \$0.0000 | + | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 67 | Lens. Red. | All type buses. Weldon #1020 or #1004-1. | 1343360-1253987 | Ascendance Trucks | 1-Each | 1 | | | \$0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| Ī | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 68 | Lens, Clearance. Yellow. | All type buses. #9007A. | 1343360-1713350 | Boyd Truck Centers | 1-Each | 5 | SIG 9007A | \$2.2400 | \$11.2000 | | | |
| 30 | constituent renow. | The type bases, moorn. | 15.5550-1715550 | 5070 HOCK CERTERS | _ cacii | | 3.0 Journ | Ş2.2400 | Ç11.2000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |

| | | | | | | _ | | | | | 1 | |
|-----|--------------------------|---------------------------------|-----------------|--------------------|---------|---|-----------------------|-----------|------------|---|---------|--|
| 68 | Lens, Clearance. Yellow. | All type buses. #9007A. | 1343360-1713350 | Ascendance Trucks | 1-Each | 5 | Navistar TLD44302R | \$23.9600 | \$119.8000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 68 | Lens, Clearance. Yellow. | All type buses. #9007A. | 1343360-1713350 | American Bus | 1-Each | 5 | | | \$0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 69 | Lens, Dome, Clear. | All type buses. Weldon #8004. | 1343360-1300630 | Boyd Truck Centers | 1-Each | 5 | WTE 8004 0000 30 | \$1.1700 | \$5.8500 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 69 | Lens, Dome, Clear. | All type buses. Weldon #8004. | 1343360-1300630 | Ascendance Trucks | 1-Each | 5 | Navistar | \$7.7600 | \$38.8000 | | | |
| | | | | | | | 3881052c91 | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 69 | Lens, Dome, Clear. | All type buses. Weldon #8004. | 1343360-1300630 | American Bus | 1-Each | 5 | | | \$0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 70 | Lens, Marker. Amber. | All type buses. Weldon #5002. | 1343360-1666855 | American Bus | 1-Each | 1 | OEM 5002 | \$4.5000 | \$4.5000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 70 | Long Markey Archive | All home houses 145-145-145000 | 1343360-1666855 | Assender Touris | 4.5 | | Newforters | ¢10.0000 | ¢10,0000 | | | |
| 70 | Lens, Marker. Amber. | All type buses. Weldon #5002. | 1545500-1000855 | Ascendance Trucks | 1-Each | 1 | Navistar 3586128c1 | \$19.9900 | \$19.9900 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 70 | Lens, Marker. Amber. | All type buses. Weldon #5002. | 1343360-1666855 | Boyd Truck Centers | 1-Each | 1 | | | \$0.0000 | | | |
| , , | cons, manter, Amber. | Till type bases. Weldon #3002. | 13.3333-100033 | 2070 Hack centers | _ cacii | | | | Ç0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 71 | Lens, Marker. Red. | All type buses. Weldon #5002-1. | 1343360-1666854 | Boyd Truck Centers | 1-Each | 5 | WTE 5002 0000 20 | \$1.9900 | \$9.9500 | | | |
| | | | | , | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | 1 | | |

| | | | | T | | T - | | | | | |
|-----|------------------------|--|-----------------|--------------------|--------|-----|------------------|-----------------|-----------------|---------|--|
| 71 | Lens, Marker. Red. | All type buses. Weldon #5002-1. | 1343360-1666854 | American Bus | 1-Each | 5 | OEM 5002-1 | \$4.5000 | \$22.5000 | | |
| | | | | | | | | | | | |
| 71 | Lens, Marker. Red. | All type buses. Weldon #5002-1. | 1343360-1666854 | Ascendance Trucks | 1-Each | 5 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 72 | Lens, Stop Light. Red. | All type buses. Weldon #1010 or #1003-1. | 1343360-1253996 | Boyd Truck Centers | 1-Each | 1 | WTE 1003 0000 10 | \$7.9100 | \$7.9100 | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| 72 | Lens, Stop Light. Red. | All type buses. Weldon #1010 or #1003-1. | 1343360-1253996 | American Bus | 1-Each | 1 | OEM 1003-1 | \$11.0000 | \$11.0000 | | |
| | | | | | | | | | | | |
| 72 | Lens, Stop Light. Red. | All type buses. Weldon #1010 or #1003-1. | 1343360-1253996 | Ascendance Trucks | 1-Each | 1 | Navistar | \$39.1300 | \$39.1300 | | |
| ,,, | cens, stop agric red. | 741 (yp. 553.5.1 11.1551) 1.155 5.1 | 1545500 1155550 | , seemanice racis | 1 2001 | - | 2229352c1 | Ş33.1300 | 733,1300 | | |
| | | | | | | | | | | | |
| 73 | Lens, Tail Light. Red. | All type buses. #9023R or #90232. | 1343360-1502547 | Ascendance Trucks | 1-Each | 5 | Navistar | \$1.9600 | \$9.8000 | | |
| | | | | | | | ZBJ90232 | | | aded | |
| | | | | | | | | | | Awarded | |
| 73 | Lens, Tail Light. Red. | All type buses. #9023R or #90232. | 1343360-1502547 | American Bus | 1-Each | 5 | OEM 90232 | \$2.1200 | \$10.6000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 73 | Lens, Tail Light. Red. | All type buses. #9023R or #90232. | 1343360-1502547 | Boyd Truck Centers | 1-Each | 5 | GRO 90232 | \$2.4100 | \$12.0500 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 74 | Light, Back Up. | '97 and newer Amtran buses. Lamp #3-2630 | 1343450-2000743 | American Bus | 1-Each | 10 | OEM LAMP3-2630 | \$12.7500 | \$127.5000 | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |

| 7.4 | Color Produtts | 107 1 | 4242450 2000742 | Accordence Totale | 4.5 | 10 | | | \$0,0000 | | | |
|-----|--------------------------|---|-----------------|----------------------|---------|----|------------------|-----------------------|-----------------|-------------|---------|--|
| 74 | Light, Back Up. | '97 and newer Amtran buses. Lamp #3-2630 | 1343450-2000743 | Ascendance Trucks | 1-Each | 10 | | | \$0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 74 | Light, Back Up. | '97 and newer Amtran buses. Lamp #3-2630 | 1343450-2000743 | Boyd Truck Centers | 1-Each | 10 | | | \$0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 75 | Light, Back Up, 7" LED. | '10 IH bus. #4067257C1. | 1343450-2013191 | American Bus | 1-Each | 30 | GSSUSA 79125322 | \$30.6000 | \$918.0000 | AFTERMARKET | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 75 | Light, Back Up, 7" LED. | '10 IH bus. #4067257C1. | 1343450-2013191 | Ascendance Trucks | 1-Each | 30 | Navistar | \$62.9100 | \$1,887.3000 | | | |
| | • | | | | | | 3784743c1 | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 75 | Light, Back Up, 7" LED. | '10 IH bus. #4067257C1. | 1343450-2013191 | Boyd Truck Centers | 1-Each | 30 | WTE 9186 5586 30 | \$75.9500 | \$2,278.5000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 76 | Light, Big. Red. | Amtran buses. #438099001. | 1343450-1731767 | Boyd Truck Centers | 1-Each | 20 | WTE 1080 1100 10 | \$19.6900 | \$393.8000 | | | |
| | <u> </u> | | | , | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 76 | Light, Big. Red. | Amtran buses. #438099001. | 1343450-1731767 | American Bus | 1-Each | 20 | OEM 438099001 | \$19.9800 | \$399.6000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 76 | Light, Big. Red. | Amtran buses. #438099001. | 1343450-1731767 | Ascendance Trucks | 1-Each | 20 | Navistar | \$43.4300 | \$868.6000 | | | |
| ,0 | egny o/g. neu. | 7 MINIST 505CS. #450055001. | 13.3.33.1731707 | , occuratince fracks | _ cacii | 20 | 438099001 | Ç.0. 1 300 | Ç003.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 77 | Light, Big, 7" LED, Red. | '10 IH bus. #2230598C1. | 1343450-2013192 | American Bus | 1-Each | 20 | OEM E756IEBOR-FA | \$99.8400 | \$1,996.8000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| Ī | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | 1 | 1 | | | | | | |

| 77 | Light, Big, 7" LED, Red. | '10 IH bus. #2230598C1. | 1343450-2013192 | Boyd Truck Centers | 1-Each | 20 | WTE 1020 9230 10 | \$144.2700 | \$2,885.4000 | | |
|----|---------------------------|---|-------------------|--------------------|---------|----|------------------|------------|--------------|---------|--|
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 77 | Light, Big, 7" LED, Red. | '10 IH bus. #2230598C1. | 1343450-2013192 | Ascendance Trucks | 1-Each | 20 | Navistar | \$144.6400 | \$2,892.8000 | | |
| | | | | | | | 3784739c1 | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 78 | Light, Big. Yellow. | '03 Thomas body bus. #8452101. | 1343450-2002185 | American Bus | 1-Each | 25 | OEM 8452101 | \$17.7000 | \$442.5000 | | |
| 70 | Light, big. Tellow. | 03 Monas Body Bds. #0432101. | 1343430 2002103 | American bus | 1-Edill | 25 | OEW 0432101 | \$17.7000 | \$442.3000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 78 | Light, Big. Yellow. | '03 Thomas body bus. #8452101. | 1343450-2002185 | Boyd Truck Centers | 1-Each | 25 | WTE 1080 1100 20 | \$19.2000 | \$480.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 78 | Light, Big. Yellow. | '03 Thomas body bus. #8452101. | 1343450-2002185 | Ascendance Trucks | 1-Each | 25 | | | \$0.0000 | | |
| | | · | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 79 | Light, Big Yellow 7" LED. | 2010 IH Bus. 3784738C1 | 1343450-2013190 | American Bus | 1-Each | 15 | OEM 3784738C1 | \$99.8400 | \$1,497.6000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Aaudad | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 79 | Light, Big Yellow 7" LED. | 2010 IH Bus. 3784738C1 | 1343450-2013190 | Ascendance Trucks | 1-Each | 15 | Navistar | \$144.9400 | \$2,174.1000 | | |
| | | | | | | | 3784738c1 | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 79 | Light, Big Yellow 7" LED. | 2010 IH Bus. 3784738C1 | 1343450-2013190 | Boyd Truck Centers | 1-Each | 15 | | | \$0.0000 | | |
| " | Light, dig relief / LLD. | 2010 111 803. 370473001 | 15-15-150-2015150 | 2070 HOCK CERTERS | 2 20011 | 15 | | | Ç0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 80 | Light, Entrance, LED. | '10 IH bus. #2228839C1 or #SOECVCBLTST. | 1343450-2013193 | American Bus | 1-Each | 80 | OEM ECVCBLTST | \$37.8200 | \$3,025.6000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |

| 80 | Light, Entrance, LED. | '10 IH bus. #2228839C1 or #SOECVCBLTST. | 1343450-2013193 | Ascendance Trucks | 1-Each | 80 | Navistar 4096364c1 | \$54.2400 | \$4,339.2000 | | |
|----|-----------------------|---|-----------------|--------------------|--------|----|--------------------|-----------|--------------|---------|--|
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 80 | Light, Entrance, LED. | '10 IH bus. #2228839C1 or #SOECVCBLTST. | 1343450-2013193 | Boyd Truck Centers | 1-Each | 80 | | | \$0.0000 | | |
| | | | | , | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 81 | Light, Landing, LED. | C2 Freightliner buses. Weldon #31-8045-0110 | 1343420-2013637 | American Bus | 1-Each | 1 | OEM 31-8045-0110 | \$29.6100 | \$29.6100 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 81 | Light, Landing, LED. | C2 Freightliner buses. Weldon #31-8045-0110 | 1343420-2013637 | Ascendance Trucks | 1-Each | 1 | | | \$0.0000 | | |
|] | | • | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 81 | Light, Landing, LED. | C2 Freightliner buses. Weldon #31-8045-0110 | 1343420-2013637 | Boyd Truck Centers | 1-Each | 1 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 82 | Light, Loading. | Carpenter and Crown buses. #KD856-3360. | 1343450-1733268 | American Bus | 1-Each | 5 | OEM KD856-3360 | \$21.2200 | \$106.1000 | | |
| | -9,9. | | | | 2 200. | | | 7 | , | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 82 | Light, Loading. | Carpenter and Crown buses. #KD856-3360. | 1343450-1733268 | Ascendance Trucks | 1-Each | 5 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 82 | Light, Loading. | Carpenter and Crown buses. #KD856-3360. | 1343450-1733268 | Boyd Truck Centers | 1-Each | 5 | | | \$0.0000 | | |
| 32 | Egne, Eddung. | Carpenter and crown buses. #KD030-3300. | 1343430-1733208 | Boyd Hack Centers | I-Edul | , | | | Ç0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 83 | Light, Marker. Amber. | All type buses. #5000A. | 1343420-1656138 | American Bus | 1-Each | 5 | OEM 5000A | \$7.0000 | \$35.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | 1 | 1 | | | | | |

| 83 | Light, Marker. Amber. | All type buses. #5000A. | 1343420-1656138 | Ascendance Trucks | 1-Each | 5 | | | \$0.0000 | 1 | | |
|-----|---|--|-----------------|----------------------|-----------|---|-------------|-----------|-----------|---|---------|--|
| | • | ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, | | | | | | | , | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 83 | Light, Marker. Amber. | All type buses. #5000A. | 1343420-1656138 | Boyd Truck Centers | 1-Each | 5 | | | \$0.0000 | | | |
| | | ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, | | | | | | | , | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 84 | Light, Marker. Red. | All type buses. #150R. | 1343420-1254011 | American Bus | 1-Each | 1 | OEM 150R | \$7.5000 | \$7.5000 | | | |
| | | · · · //- · · · · · · · · · · · · · · · · · · · | | | | _ | | 7 | 7 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| 84 | Light, Marker. Red. | All type buses. #150R. | 1343420-1254011 | Ascendance Trucks | 1-Each | 1 | | | \$0.0000 | | | |
| 3.1 | Light, Market. Red. | rai type bases. Historia | 1545420 1254011 | 7 Secretaries Tracks | 2 20011 | - | | | \$0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 84 | Light, Marker. Red. | All type buses. #150R. | 1343420-1254011 | Boyd Truck Centers | 1-Each | 1 | | | \$0.0000 | | | |
| 54 | Eight, Warker. Red. | All type buses. #150ft. | 1343420 1234011 | boya frack centers | 1 - Editi | • | | | \$0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 85 | Light, Marker. Red. | All type buses. #4525R. | 1343420-1503831 | Boyd Truck Centers | 1-Each | 1 | KD 856 3360 | \$21.6700 | \$21.6700 | | | |
| 83 | Light, Market. Neu. | All type buses. #4525h. | 1343420-1303831 | Boyd Huck Centers | 1-Eacii | 1 | KD 830 3300 | 321.0700 | 321.0700 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| 85 | Light, Marker. Red. | All type buses. #4525R. | 1343420-1503831 | American Bus | 1-Each | 1 | | | \$0.0000 | | | |
| 83 | Light, Marker. Red. | All type buses. #4323h. | 1343420-1303831 | American bus | 1-Eacii | 1 | | | 30.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 85 | Light, Marker. Red. | All type buses. #4525R. | 1343420-1503831 | Ascendance Trucks | 1-Each | 1 | | | \$0.0000 | | | |
| 85 | Light, Marker. Red. | міі type buses. #4525K. | 1343420-1303031 | ASCENDANCE TRUCKS | 1-54011 | 1 | | | ŞU.UUU | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 86 | Light, Marker. Red. | All type buses. Weldon #5000R. | 1343420-1224446 | American Bus | 1-Each | 5 | OEM 5000R | \$6.9700 | \$34.8500 | | | |
| 86 | Ligitt, Iviarker. Red. | All type buses. Weldon #5000k. | 1343420-1224446 | American Bus | 1-cacu | 5 | OEIVI SUUUK | \$6.9700 | \$34.8500 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |

| 86 | Light, Marker. Red. | All type buses. Weldon #5000R. | 1343420-1224446 | Boyd Truck Centers | 1-Each | 5 | WTE 5000 1406 20 | \$7.6900 | \$38.4500 | | | |
|----|--|--|-----------------|--------------------|---------|-----|------------------|-----------|--------------|---|---------|--|
| 00 | ngiri, Marker. Ned. | All type bases. Weldon #3000N. | 1343420 1224440 | boya rrack centers | 1-20011 | , | W1E 3000 1400 20 | \$7.0500 | \$38.4300 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 86 | Light, Marker. Red. | All type buses. Weldon #5000R. | 1343420-1224446 | Ascendance Trucks | 1-Each | 5 | | | \$0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 87 | Light, Marker, Red, Rear Clearance, LED. | Top Side for C2 Freightliner Bus TBB 131439. | 1343420-2013635 | American Bus | 1-Each | 15 | OEM TBB 131439 | \$21.4700 | \$322.0500 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 87 | Light, Marker, Red, Rear Clearance, LED. | Top Side for C2 Freightliner Bus TBB 131439. | 1343420-2013635 | Boyd Truck Centers | 1-Each | 15 | TBB 131439 | \$25.0000 | \$375.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 87 | Light, Marker, Red, Rear Clearance, LED. | Top Side for C2 Freightliner Bus TBB 131439. | 1343420-2013635 | Ascendance Trucks | 1-Each | 15 | | | \$0.0000 | | | |
| 0, | Light, Warker, Nea, Near Clearance, EED. | Top side for C2 Treightimer bus 100 131435. | 1343420-2013033 | Ascendance Fracks | 1-20011 | 13 | | | Ş0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | Light Markey Tay 150 Applies | C3 Faciability as house HTDD 434440 | 4242420 2042626 | American Burn | 4 Fresh | 150 | 0514424440 | ć22 2200 | £2.74.6.0000 | | | |
| 88 | Light, Marker, Top, LED. Amber. | C2 Freightliner buses. #TBB 131440 | 1343420-2013636 | American Bus | 1-Each | 160 | OEM 131440 | \$23.2300 | \$3,716.8000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 88 | Light, Marker, Top, LED. Amber. | C2 Freightliner buses. #TBB 131440 | 1343420-2013636 | Boyd Truck Centers | 1-Each | 160 | TBB 131440 | \$26.5400 | \$4,246.4000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 88 | Light, Marker, Top, LED. Amber. | C2 Freightliner buses. #TBB 131440 | 1343420-2013636 | Ascendance Trucks | 1-Each | 160 | | | \$0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 89 | Light, Reverse, LED. | C2 Freightliner buses. #TBB 127574 or #TBB 221391. | 1343420-2013640 | American Bus | 1-Each | 45 | OPTI-LUXX | \$52.2500 | \$2,351.2500 | | | |
| | | | | | | | ECVRT861B4W | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | 1 | | | | 1 | | | 1 | | |

| 89 | Light, Reverse, LED. | C2 Freightliner buses. #TBB 127574 or #TBB 221391. | 1343420-2013640 | Boyd Truck Centers | 1-Each | 45 | TBB 221391 | \$63.6100 | \$2,862.4500 | 1 | |
|----|---|--|------------------|--|---------|-----|----------------|-----------|---------------------------------------|---------|--|
| 85 | Eight, Neverse, LED. | CZ Freightimer Buses. #188 127374 OF #188 221331. | 1343420-2013040 | boya mack centers | 1-24011 | 1 | 100 221331 | 303.0100 | \$2,002.4300 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 89 | Light, Reverse, LED. | C2 Freightliner buses. #TBB 127574 or #TBB 221391. | 1343420-2013640 | Ascendance Trucks | 1-Each | 45 | | | \$0.0000 | | |
| 65 | Light, Neverse, LED. | C2 Freigntimer buses. #188 12/3/4 01 #188 221391. | 1343420-2013040 | Ascendance frucks | 1-Eacii | 43 | | | 30.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 90 | Light, Reverse. | 4" Round, Flush Mount, LED. TBB 205163. | 1343420-2013643 | American Bus | 1-Each | 75 | OEM TBB 205163 | \$36.5700 | \$2,742.7500 | | |
| 30 | Eight, Neverse. | 4 Notatio, Nationally, 225, 155 255255. | 1545420 2015045 | 7 and lean bus | 2 2001 | ,,, | OEM 155 205105 | \$30.3700 | Q2,742.7300 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 90 | Light, Reverse. | 4" Round, Flush Mount, LED. TBB 205163. | 1343420-2013643 | Boyd Truck Centers | 1-Each | 75 | TBB 221391 | \$63.6100 | \$4,770.7500 | | |
| 30 | Eight, Neverse. | 4 Hould, Hash Hould, LES. 188 283183. | 1545420 2015045 | boya mack centers | 1 20011 | ,,, | 100121331 | \$65.6166 | Ç1,770.7300 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 90 | Light, Reverse. | 4" Round, Flush Mount, LED. TBB 205163. | 1343420-2013643 | Ascendance Trucks | 1-Each | 75 | | | \$0.0000 | | |
| 50 | Eight, Neverse. | 4 Round, Flush Would, EED. FBB 203203. | 1343420-2013043 | Ascendance Tracks | 1-2001 | ,,, | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 91 | Light, Stop/ Tail, LED. Red. | C2 Freightliner buses. #TBB 163833 or #TBB 222105. | 1343420-2013639 | American Bus | 1-Each | 5 | OPTI-LUXX | \$35.7800 | \$178.9000 | | |
| 31 | Eight, Stop, Tall, EED. Ned. | C211eigntimer buses. #100 103033 01 #100 222103. | 1343420-2013035 | American bus | 1-20011 | , | ECVRT861STT | \$33.7600 | \$170.3000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 91 | Light, Stop/ Tail, LED. Red. | C2 Freightliner buses. #TBB 163833 or #TBB 222105. | 1343420-2013639 | Boyd Truck Centers | 1-Each | 5 | TBB 222105 | \$39.6900 | \$198.4500 | | |
| J. | Egricy Stopy Tail, ELD. Ned. | reignance 50353. #150 103033 01 #100 222103. | 15-15-12-2015059 | 5574 Hack Centers | 2 20011 | | .55222105 | Ç33.0300 | Ç130.4300 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 91 | Light, Stop/ Tail, LED. Red. | C2 Freightliner buses. #TBB 163833 or #TBB 222105. | 1343420-2013639 | Ascendance Trucks | 1-Each | 5 | | | \$0.0000 | | |
| J. | Egricy Stopy Tail, ELD. Ned. | reignance 50353. #150 103033 01 #100 222103. | 15-15-12-2015059 | , seemance macks | 2 20011 | | | | \$5.5000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 92 | Light, Strobe, Clear Lens, Goes on Top of Bus. | #3414C or #4241C. | 1343450-1727406 | Ascendance Trucks | 1-Each | 140 | Navistar | \$66.2700 | \$9,277.8000 | | |
| ,, | 5 4, 2.2.2., 2.2.2. 2.3.5, 30.2.3.1. 10p.07. Bus. | | 20.2.2.2.2.3.00 | The state of the s | | 0 | ZBJ78851 | , | , , , , , , , , , , , , , , , , , , , | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |

| 92 | Light, Strobe, Clear Lens, Goes on Top of Bus. | #3414C or #4241C. | 1343450-1727406 | American Bus | 1-Each | 140 | OEM 4241C | \$79.3800 | \$11,113.2000 | | |
|----|--|--|-----------------|--------------------|--------|-----|----------------------|------------|---------------|---------|--|
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 92 | Light, Strobe, Clear Lens, Goes on Top of Bus. | #3414C or #4241C. | 1343450-1727406 | Boyd Truck Centers | 1-Each | 140 | ECO 6550C | \$106.2500 | \$14,875.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 93 | Light, Tail. Red. | All Types Buses. #40202R. | 1343490-1713273 | American Bus | 1-Each | 5 | OEM 40202R | \$2.5300 | \$12.6500 | | |
| 33 | Eight, Tall. Neu. | All Types buses. #4020210. | 1343430-1713273 | American bus | 1-Each | | OLIVI 4020ZIX | Ş2.3300 | \$12.0500 | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| 93 | Light, Tail. Red. | All Types Buses. #40202R. | 1343490-1713273 | Ascendance Trucks | 1-Each | 5 | Navistar TL40202r | \$7.2700 | \$36.3500 | | |
| | | | | | | | 12402021 | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 93 | Light, Tail. Red. | All Types Buses. #40202R. | 1343490-1713273 | Boyd Truck Centers | 1-Each | 5 | TL 40202R | \$7.3700 | \$36.8500 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 94 | Light, Tail, Double. Red Lens. | All type buses. Weldon #1010-R. | 1343490-1693189 | Boyd Truck Centers | 1-Each | 10 | WTE 1010 2106 10 | \$25.8100 | \$258.1000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| 94 | Light, Tail, Double. Red Lens. | All type buses. Weldon #1010-R. | 1343490-1693189 | American Bus | 1-Each | 10 | OEM 1010-2126-10 | \$26.9900 | \$269.9000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | tich Till Double Bullet | Allere Area Welder Maga | 4242400 4502400 | According Tools | 4.5.1 | 10 | | | 60,0000 | | |
| 94 | Light, Tail, Double. Red Lens. | All type buses. Weldon #1010-R. | 1343490-1693189 | Ascendance Trucks | 1-Each | 10 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 95 | Light, Tail, Stoplight. | All type buses. Dominion #70-6218 or #50852. | 1343490-1501842 | Ascendance Trucks | 1-Each | 5 | Navistar ZBJ50852 | \$7.4900 | \$37.4500 | | |
| | | | | | | | 200002 | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |

| 95 | Light, Tail, Stoplight. | All type buses. Dominion #70-6218 or #50852. | 1343490-1501842 | American Bus | 1-Each | 5 | OEM 50852 | 67.5200 | \$38.1500 | | |
|----|--|--|-----------------|--------------------|---------|----|------------------|-----------|------------|---------|--|
| 93 | Light, Tall, Stophight. | All type buses. Dollillion #70-0216 of #30632. | 1343490-1301642 | American bus | 1-Eacil | | OEIVI 30832 | \$7.6300 | 336.1300 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 95 | Light, Tail, Stoplight. | All type buses. Dominion #70-6218 or #50852. | 1343490-1501842 | Boyd Truck Centers | 1-Each | 5 | GRO 50852 | \$8.9600 | \$44.8000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 96 | Light, Turn Signal, with Arrow on Lens. | All type buses. Weldon #1000A. | 1343450-2001362 | Boyd Truck Centers | 1-Each | 1 | WTE 1000 1106 20 | \$28.2100 | \$28.2100 | | |
| 96 | Light, Turn Signal, with Arrow on Lens. | All type buses. Weldon #1000A. | 1343450-2001302 | Boyd Truck Centers | 1-EdCII | 1 | WIE 1000 1106 20 | \$28.2100 | \$28.2100 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 96 | Light, Turn Signal, with Arrow on Lens. | All type buses. Weldon #1000A. | 1343450-2001362 | American Bus | 1-Each | 1 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 96 | Light, Turn Signal, with Arrow on Lens. | All type buses. Weldon #1000A. | 1343450-2001362 | Ascendance Trucks | 1-Each | 1 | | | \$0.0000 | | |
| 96 | Light, Turn Signal, with Arrow on Lens. | All type buses. Weldon #1000A. | 1343450-2001302 | Ascendance Trucks | 1-EdCII | 1 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 97 | Light, Turn with Arrow, LED. | C2 Freightliner buses. #TBB 150898 or #TBB 222115. | 1343420-2013641 | American Bus | 1-Each | 15 | OEM 150898 | \$37.1500 | \$557.2500 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | Awarueu | |
| | | | | | | | | | | | |
| 97 | Links Turn with Assess LED | C3 Feeighbliggs huggs HTDD 4F0000 as HTDD 22244F | 1242420 2012641 | Doud Truck Contaco | 1 Fach | 15 | TDD 222445 | ¢46 2200 | \$694.8000 | | |
| 97 | Light, Turn with Arrow, LED. | C2 Freightliner buses. #TBB 150898 or #TBB 222115. | 1343420-2013641 | Boyd Truck Centers | 1-Each | 15 | TBB 222115 | \$46.3200 | \$694.6000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 97 | Light, Turn with Arrow, LED. | C2 Freightliner buses. #TBB 150898 or #TBB 222115. | 1343420-2013641 | Ascendance Trucks | 1-Each | 15 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 98 | Mirror, Convex Glass Only. Heated, Left Lower. | ROSCO #715DH-1. | 1330400-1731697 | American Bus | 1-Each | 35 | ROSCO 715DH-1 | \$23.5600 | \$824.6000 | | |
| 98 | iviii oi, convex diass only. neateu, left lower. | KOSCO #/13DN-1. | 1330400-1731697 | American bus | 1-EdCII | 33 | KOSCO / ISDH-I | \$23.3000 | \$824.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |

| | | | | | | | | | | 1 | | |
|-----|--|---|-----------------|--------------------|--------|----|----------------------|-----------|--------------|---|---------|--|
| 98 | Mirror, Convex Glass Only. Heated, Left Lower. | ROSCO #715DH-1. | 1330400-1731697 | Ascendance Trucks | 1-Each | 35 | Navistar ZR715DH1 | \$25.0800 | \$877.8000 | | | |
| 98 | Mirror, Convex Glass Only. Heated, Left Lower. | ROSCO #715DH-1. | 1330400-1731697 | Boyd Truck Centers | 1-Each | 35 | RPS 2365 | \$41.6900 | \$1,459.1500 | | | |
| 99 | Mirror, Cross View. | Hawkeye. '03 Freightliner bus w/Thomas body. #RPS2365 | 1330400-2005601 | Ascendance Trucks | 1-Each | 90 | Navistar ZR2365 | \$36.5600 | \$3,290.4000 | | Awarded | |
| 99 | Mirror, Cross View. | Hawkeye. '03 Freightliner bus w/Thomas body. #RPS2365 | 1330400-2005601 | Boyd Truck Centers | 1-Each | 90 | RPS 3365 | \$38.9600 | \$3,506.4000 | | | |
| 99 | Mirror, Cross View. | Hawkeye. '03 Freightliner bus w/Thomas body. #RPS2365 | 1330400-2005601 | American Bus | 1-Each | 90 | OEM 2365 | \$41.2500 | \$3,712.5000 | | | |
| 100 | Mirror, Cross View. | Mini Hawk-Eye 2001 Amtran. Rosco #3365. | 1330400-1732465 | Ascendance Trucks | 1-Each | 30 | Navistar ZR3365 | \$37.0000 | \$1,110.0000 | | Awarded | |
| 100 | Mirror, Cross View. | Mini Hawk-Eye 2001 Amtran. Rosco #3365. | 1330400-1732465 | American Bus | 1-Each | 30 | OEM 3365 | \$38.6600 | \$1,159.8000 | | | |
| 100 | Mirror, Cross View. | Mini Hawk-Eye 2001 Amtran. Rosco #3365. | 1330400-1732465 | Boyd Truck Centers | 1-Each | 30 | | | \$0.0000 | | | |
| 101 | Mirror, Flat Glass. Heated. | 7" x 9.5" for 717 Series Motorized Mirror. Right Side, Late Model Buses. ROSCO #717H/1 | 1330400-2010701 | Ascendance Trucks | 1-Each | 50 | Navistar ZR717H1 | \$21.3500 | \$1,067.5000 | | Awarded | |

| | | 1 | | T | | | | | | | |
|-----|--|---|-----------------|--------------------|---------|----|----------------------|------------|--------------|---------|--|
| 101 | Mirror, Flat Glass. Heated. | 7" x 9.5" for 717 Series Motorized Mirror. Right Side, Late Model Buses. ROSCO #717H/1 | 1330400-2010701 | American Bus | 1-Each | 50 | ROSCO 717H/1 | \$21.4100 | \$1,070.5000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 101 | Mirror, Flat Glass. Heated. | 7" x 9.5" for 717 Series Motorized Mirror. Right Side, Late Model Buses. ROSCO #717H/1 | 1330400-2010701 | Boyd Truck Centers | 1-Each | 50 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 103 | Missas Inside Pear View Plant | Mayor hugo #2004.2 | 1220400 1280850 | American Due | 1 Fook | 1 | OEM 3004-2 | ¢67,6500 | ¢67.6500 | | |
| 102 | Mirror, Inside, Rear View, Black. | Wayne buses. #3004-2. | 1330400-1289850 | American Bus | 1-Each | 1 | OEM 3004-2 | \$67.6500 | \$67.6500 | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| 102 | Mirror, Inside, Rear View, Black. | Wayne buses. #3004-2. | 1330400-1289850 | Ascendance Trucks | 1-Each | 1 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 102 | Mirror, Inside, Rear View, Black. | Wayne buses. #3004-2. | 1330400-1289850 | Boyd Truck Centers | 1-Each | 1 | | | \$0.0000 | | |
| 102 | Militor, iliside, Rear View, Black. | wayne buses. #3004-2. | 1330400-1289830 | Boyd Truck Centers | 1-EdCII | 1 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 103 | Mirror, Motor Remote Control and Heated, R.H | Amtran buses. #717BH. | 1330400-1729140 | Ascendance Trucks | 1-Each | 5 | Navistar ZR7170GH | \$259.8600 | \$1,299.3000 | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | Awaraca | |
| 103 | Mirror, Motor Remote Control and Heated, R.H | Amtran buses. #717BH. | 1330400-1729140 | American Bus | 1-Each | 5 | 0EM 7170GH | \$270.0300 | \$1,350.1500 | | |
| | , | | | | | | | , | , , | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 103 | Mirror, Motor Remote Control and Heated, R.H | Amtran buses. #717BH. | 1330400-1729140 | Boyd Truck Centers | 1-Each | 5 | RPS 717UH | \$276.6100 | \$1,383.0500 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 104 | Mirror, Remote Control and Heated, Left Side. | '05 and '06 IU huggs #7074540011 | 1220400 2008840 | American Bus | 1 Fach | 10 | OEM 7451OCH | ¢221 0500 | \$2,318.5000 | | |
| 104 | will or, kemote Control and Heated, Left Side. | '05 and '06 IH buses. #ZR71510GH. | 1330400-2008848 | American Bus | 1-Each | 10 | OEM 715IOGH | \$231.8500 | \$2,318.5000 | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |

| 104 | Mirror, Remote Control and Heated, Left Side. | '05 and '06 IH buses. #ZR71510GH. | 1330400-2008848 | Ascendance Trucks | 1-Each | 10 | Navistar | \$236.5400 | \$2,365.4000 | | | |
|-----|--|--|-----------------|--------------------|---------|----|-----------------------|------------|--------------|--|---------|---------------------------|
| 104 | Willfol, Remote control and Heated, Left Side. | 03 and 00 m bases. #20/1510dm | 1330400-2000040 | Ascendance fracks | 1-Edell | 10 | ZR715IOGH | \$230.3400 | \$2,303.4000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 104 | Mirror, Remote Control and Heated, Left Side. | '05 and '06 IH buses. #ZR71510GH. | 1330400-2008848 | Boyd Truck Centers | 1-Each | 10 | ZR715IOGH | | \$0.0000 | | | |
| | | | | , | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 105 | Mirror, Remote Control and Heated, Right Side. | '05 and '06 IH buses. #2207898C1 or #ZR71710GH. | 1330400-2005743 | Boyd Truck Centers | 1-Each | 15 | RPS M7170GH | \$166.5600 | \$2,498.4000 | | | Rejected - incorrect part |
| | | | | | | | | | | | | bid. |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | **** | 44 - 14 144 | | | |
| 105 | Mirror, Remote Control and Heated, Right Side. | '05 and '06 IH buses. #2207898C1 or #ZR71710GH. | 1330400-2005743 | Ascendance Trucks | 1-Each | 15 | Navistar ZR717IOGH | \$236.5400 | \$3,548.1000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 105 | Mirror, Remote Control and Heated, Right Side. | '05 and '06 IH buses. #2207898C1 or #ZR71710GH. | 1330400-2005743 | American Bus | 1-Each | 15 | OEM 717IOGH | \$262.7000 | \$3,940.5000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 106 | Mirror, Spot. | 3", stick-on. All type buses. Grote #12004. NO SUBSTITUTE. | 1330400-1202077 | Ascendance Trucks | 1-Each | 1 | Navistar | \$1.8900 | \$1.8900 | | | |
| | | | | | | | zbj12004 | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 106 | Mirror, Spot. | 3", stick-on. All type buses. Grote #12004. NO SUBSTITUTE. | 1330400-1202077 | American Bus | 1-Each | 1 | | | \$0.0000 | | | |
| 100 | Willfor, Spot. | 3 , Stick-off. All type bases. Grote #12004. NO 30B311101E. | 1330400-1202077 | American bus | 1-Eacii | 1 | | | 30.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 106 | Mirror, Spot. | 3", stick-on. All type buses. Grote #12004. NO SUBSTITUTE. | 1330400-1202077 | Boyd Truck Centers | 1-Each | 1 | | | \$0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | 4.44 | 4.00 | | | |
| 107 | Module, Child Reminder. | Freightliner buses w/Thomas body. #CR2A, #TBB 212977 or #TBB 52005374. | 1343510-2010506 | American Bus | 1-Each | 1 | OEM BSCR2 | \$107.9500 | \$107.9500 | THIS IS A REPLACEMENT MODULE FOR CR2A OR CR2B | | |
| Ì | | | | | | | | | | | | |
| Ì | | | | | | | | | | | | |
| Ì | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | I. | 1 | 1 | | 1 | 1 | | | | |

| 107 | Module, Child Reminder. | Freightliner buses w/Thomas body. #CR2A, #TBB 212977 or #TBB 52005374. | 1343510-2010506 | Boyd Truck Centers | 1-Each | 1 | TBB 212977 | \$158.9600 | \$158.9600 | | |
|-----|-----------------------------|--|-----------------|--------------------|--------|---|--------------------|------------|------------|---------|--|
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 107 | Module, Child Reminder. | Freightliner buses w/Thomas body. #CR2A, #TBB 212977 or #TBB 52005374. | 1343510-2010506 | Ascendance Trucks | 1-Each | 1 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 108 | Motor, Heater, Rear. | '04 Freightliner bus w/Thomas body. #ABP-N83-301881. | 1340700-2009341 | American Bus | 1-Each | 5 | OEM ABP-N83-301881 | \$65.2000 | \$326.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | 400 | 4.00 | | |
| 108 | Motor, Heater, Rear. | '04 Freightliner bus w/Thomas body. #ABP-N83-301881. | 1340700-2009341 | Boyd Truck Centers | 1-Each | 5 | ABP N83 301881 | \$80.7700 | \$403.8500 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | _ | | | ***** | | |
| 108 | Motor, Heater, Rear. | '04 Freightliner bus w/Thomas body. #ABP-N83-301881. | 1340700-2009341 | Ascendance Trucks | 1-Each | 5 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | 4 | | | |
| 109 | Motor (midship heater). | Amtran buses. #4316238. | 1340700-1732418 | American Bus | 1-Each | 1 | OEM 4316238 | \$51.2200 | \$51.2200 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 4 | | | 4240700 | Devil Tool Co. | 45. | _ | ADD NOT THE | 453 | 453 | | |
| 109 | Motor (midship heater). | Amtran buses. #4316238. | 1340700-1732418 | Boyd Truck Centers | 1-Each | 1 | ABP N83 301877 | \$52.3100 | \$52.3100 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 400 | | | 4240700 | | 45 : | | | | 60.000 | | |
| 109 | Motor (midship heater). | Amtran buses. #4316238. | 1340700-1732418 | Ascendance Trucks | 1-Each | 1 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 110 | Nozzle, Windshield Washer. | Wayne buses. #NPNJ-RD. | 1330250-1710306 | American Bus | 1-Each | 5 | OEM NPNJ-RD | \$3.2200 | \$16.1000 | | |
| 110 | Nozzie, wiliusniela wasner. | wayne buses. #NPNJ-RD. | 1550250-1/10306 | American Bus | T-E9CU | 5 | GEINI INPINJ-KD | \$5.2200 | \$10.1000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |

| | | | | | | _ | | | | | |
|-----|----------------------------|------------------------------------|-----------------|--------------------|--------|----|----------------------|-----------|------------|---------|--|
| 110 | Nozzle, Windshield Washer. | Wayne buses. #NPNI-RD. | 1330250-1710306 | Ascendance Trucks | 1-Each | 5 | | | \$0.0000 | | |
| 110 | Nozzie, Windshield Washer. | Wayne buses. #NPNJ-RD. | 1330250-1710306 | Boyd Truck Centers | 1-Each | 5 | | | \$0.0000 | | |
| 111 | Nozzie, Windshield Washer. | Amtran buses. #286 or #A447634003. | 1330250-1733617 | American Bus | 1-Each | 30 | OEM 447634003 | \$18.9900 | \$569.7000 | Awarded | |
| 111 | Nozzle, Windshield Washer. | Amtran buses. #286 or #A447634003. | 1330250-1733617 | Ascendance Trucks | 1-Each | 30 | | | \$0.0000 | | |
| 111 | Nozzle, Windshield Washer. | Amtran buses. #286 or #A447634003. | 1330250-1733617 | Boyd Truck Centers | 1-Each | 30 | | | \$0.0000 | | |
| 112 | Pad, Brake Pedal. | '00 thru '02 IH buses. #382495C1. | 1335450-2009728 | Ascendance Trucks | 1-Each | 15 | Navistar 382495c1 | \$29.8900 | \$448.3500 | Awarded | |
| 112 | Pad, Brake Pedal. | '00 thru '02 IH buses. #382495C1. | 1335450-2009728 | American Bus | 1-Each | 15 | | | \$0.0000 | | |
| 112 | Pad, Brake Pedal. | '00 thru '02 IH buses. #382495C1. | 1335450-2009728 | Boyd Truck Centers | 1-Each | 15 | | | \$0.0000 | | |
| 113 | Plate, Stop Arm. | All type buses. #SA-170. | 1343060-1656188 | Boyd Truck Centers | 1-Each | 5 | SMA 170 | \$7.7400 | \$38.7000 | Awarded | |

| | | | T | r | | 1 | T | | | | |
|-----|--|---------------------------------|-----------------|---------------------|--------|----|--------------------|-----------|------------|---------|--|
| 113 | Plate, Stop Arm. | All type buses. #SA-170. | 1343060-1656188 | Ascendance Trucks | 1-Each | 5 | Navistar SMC170 | \$8.5100 | \$42.5500 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 113 | Plate, Stop Arm. | All type buses. #SA-170. | 1343060-1656188 | American Bus | 1-Each | 5 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 114 | Premium Web Cutters, for Cutting Seat Belts. | All type buses. Kinedyne #8705. | 7720480-1717919 | American Bus | 1-Each | 50 | OEM 8705 | \$9.2000 | \$460.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| 114 | Premium Web Cutters, for Cutting Seat Belts. | All type buses. Kinedyne #8705. | 7720480-1717919 | Boyd Truck Centers | 1-Each | 50 | SLK 8705 | \$10.6100 | \$530.5000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 114 | Premium Web Cutters, for Cutting Seat Belts. | All type buses. Kinedyne #8705. | 7720480-1717919 | Ascendance Trucks | 1-Each | 50 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 115 | Pump, Washer. | Ward '92 IH bus. #06601. | 1330250-1718089 | American Bus | 1-Each | 5 | OEM 6601 | \$27.5200 | \$137.6000 | | |
| | | | | | | | | , | 7 | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | Awarueu | |
| | | | | | | | | | | | |
| 115 | Pump, Washer. | Ward '92 IH bus. #06601. | 1330250-1718089 | Ascendance Trucks | 1-Each | 5 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 115 | Dump Western | Mond for III have record | 1220250 4740000 | David Tay-U Control | 4.5 | | | | £0.0000 | | |
| 115 | Pump, Washer. | Ward '92 IH bus. #06601. | 1330250-1718089 | Boyd Truck Centers | 1-Each | 5 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 116 | Pump, Windshield Washer. | Amtran buses. #446883001. | 1330250-1733826 | American Bus | 1-Each | 5 | OEM 446883001 | \$21.0600 | \$105.3000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |

| 116 | Pump, Windshield Washer. | Amtran buses. #446883001. | 1330250-1733826 | Ascendance Trucks | 1-Each | 5 | Navistar 446883001AXL | \$24.8000 | \$124.0000 | | | |
|-----|------------------------------------|---|-----------------|--------------------|--------|----|--------------------------|------------|------------|---|---------|------------------|
| 116 | Pump, Windshield Washer. | Amtran buses. #446883001. | 1330250-1733826 | Boyd Truck Centers | 1-Each | 5 | | | \$0.0000 | | | |
| 117 | Radiator, Recored. | '05 and '06 IH buses w/VT365 automatic. | 1340800-2010607 | | 1-Each | 1 | | | | | | No Bids Received |
| 118 | Reflector. Amber. | Ward buses. #340-0100 or #LS377. | 1343600-1477076 | | 1-Each | 5 | | | | | | No Bids Received |
| 119 | Reflector. Red, Hole in Center. | All type buses. #36R. | 1343600-1223796 | Boyd Truck Centers | 1-Each | 10 | SIG 52 | \$2.0600 | \$20.6000 | | | |
| 119 | Reflector. Red, Hole in Center. | All type buses. #36R. | 1343600-1223796 | American Bus | 1-Each | 10 | | | \$0.0000 | | Awarded | |
| | | | | | | | | | | | | |
| 119 | Reflector. Red, Hole in Center. | All type buses. #36R. | 1343600-1223796 | Ascendance Trucks | 1-Each | 10 | | | \$0.0000 | | | |
| 120 | Regulator, Air Pressure, Stop Arm. | All type buses. #SA1690. | 1343060-1249241 | American Bus | 1-Each | 5 | OEM 1800 | \$98.9300 | \$494.6500 | 1800 IS SPECIALTY MANUFACTURING'S DIRECT REPLACEMENT OF THE SA1690 WHICH WAS DISCONTINUED | Awarded | |
| 120 | Regulator, Air Pressure, Stop Arm. | All type buses. #SA1690. | 1343060-1249241 | Boyd Truck Centers | 1-Each | 5 | SMA 001800 | \$148.2600 | \$741.3000 | | | |

| 120 | Regulator, Air Pressure, Stop Arm. | All type buses. #SA1690. | 1343060-1249241 | Ascendance Trucks | 1-Each | 5 | | | \$0.0000 | | |
|-----|------------------------------------|------------------------------------|------------------|--------------------|---------|----|--------------|-----------|-----------|---------|------------------|
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 121 | Relay, Flasher. | Ward buses. #51-0026. | 1343690-1664623 | American Bus | 1-Each | 5 | OEM 51-0026 | \$5.3300 | \$26.6500 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| 121 | Relay, Flasher. | Ward buses. #51-0026. | 1343690-1664623 | Ascendance Trucks | 1-Each | 5 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 121 | Relay, Flasher. | Ward buses. #51-0026. | 1343690-1664623 | Boyd Truck Centers | 1-Each | 5 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 122 | Relay, Mark Light. | Blue Bird buses. #1077718. | 1343690-1697545 | | 1-Each | 5 | | | | | No Bids Received |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 123 | Relay, Rear Door Buzzer. | Ward buses. #4099. | 1343690-1687714 | American Bus | 1-Each | 1 | OEM BUZZ4099 | \$26.6500 | \$26.6500 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| 123 | Relay, Rear Door Buzzer. | Ward buses. #4099. | 1343690-1687714 | Ascendance Trucks | 1-Each | 1 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 123 | Relay, Rear Door Buzzer. | Ward buses. #4099. | 1343690-1687714 | Boyd Truck Centers | 1-Each | 1 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 124 | Ring, Lock, Rear Axle Nut. | '03 Freightliner bus. #FXA-129132. | 1358275-2002681 | Boyd Truck Centers | 1-Each | 30 | FXA 129132 | \$2.2100 | \$66.3000 | | |
| 224 | ning com, real Axie Nati | 55 - 1 Sg. 11 AA 125132 | 255527 5 2502001 | 5070 Hock Centers | 2 20011 | 30 | 1701122132 | Ş2.2100 | \$55.5000 | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | Awarueu | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |

| 124 | Ding Look Door Aule Nut | '03 Freightliner bus. #FXA-129132. | 1358275-2002681 | American Bus | 1-Each | 30 | | | \$0.0000 | | |
|-----|----------------------------|--|-----------------|--------------------|---------|----|--------------------------|------------|--------------|---------|--|
| 124 | Ring, Lock, Rear Axle Nut. | 03 Fleightimer bus. #FAA-123132. | 1336273-2002061 | American bus | 1-Eacii | 30 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 124 | Ring, Lock, Rear Axle Nut. | '03 Freightliner bus. #FXA-129132. | 1358275-2002681 | Ascendance Trucks | 1-Each | 30 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 125 | Rod, Fiberglass. | C2 Freightliner buses. #SMA068177. | 1333100-2013647 | Boyd Truck Centers | 1-Each | 25 | SMA 68177K | \$105.3900 | \$2,634.7500 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 125 | Rod, Fiberglass. | C2 Freightliner buses. #SMA068177. | 1333100-2013647 | American Bus | 1-Each | 25 | OEM 68177K | \$106.9100 | \$2,672.7500 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 125 | Rod, Fiberglass. | C2 Freightliner buses. #SMA068177. | 1333100-2013647 | Ascendance Trucks | 1-Each | 25 | SPECIALTY - SMC68177K | \$126.9500 | \$3,173.7500 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 126 | Sensor, Speed. | 02 IH bus w/Allison 2000 transmission. #29536408. | 1353600-2005716 | Boyd Truck Centers | 1-Each | 7 | 29536408 | \$23.5900 | \$165.1300 | | |
| | | · | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 126 | Sensor, Speed. | 02 IH bus w/Allison 2000 transmission. #29536408. | 1353600-2005716 | Ascendance Trucks | 1-Each | 7 | Allison 29536408 | \$26.7500 | \$187.2500 | | |
| | | | | | | | 23330400 | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 126 | Sensor, Speed. | 02 IH bus w/Allison 2000 transmission. #29536408. | 1353600-2005716 | American Bus | 1-Each | 7 | | | \$0.0000 | | |
| 220 | эспэн, эреей. | 22-11-003-17, 1113011-2000 (101131111331011, 1123330406. | 2555005-2005/10 | ,ccan bus | _ cacii | , | | | Ç0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 127 | Shield, Dust, Rear. | 97 and newer IH buses. #503007C91. | 1335450-2009322 | Ascendance Trucks | 1-Each | 1 | Navistar F03007-01 | \$76.1200 | \$76.1200 | | |
| | | | | | | | 503007c91 | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |

| 127 | Shield, Dust, Rear. | 97 and newer IH buses. #503007C91. | 1335450-2009322 | American Bus | 1-Each | 1 | | | \$0.0000 | | |
|-----|-----------------------------|---|-----------------|--------------------|---------|----|------------------|-----------|------------|----------|--|
| | | | | | | | | | , | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 127 | Shield, Dust, Rear. | 97 and newer IH buses. #503007C91. | 1335450-2009322 | Boyd Truck Centers | 1-Each | 1 | | | \$0.0000 | | |
| 127 | Siliela, Dast, Real. | 97 and newer in buses. #303007C31. | 1333430-2003322 | Boyd Huck Centers | 1-Eacii | 1 | | | 30.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | 4 | 4.0.000 | | |
| 128 | Shield, Marker Light. | All type buses. Weldon #5006. | 1343420-1721829 | Boyd Truck Centers | 1-Each | 10 | WTE 5006 0000 00 | \$1.8600 | \$18.6000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 128 | Shield, Marker Light. | All type buses. Weldon #5006. | 1343420-1721829 | American Bus | 1-Each | 10 | OEM 5006 | \$4.2500 | \$42.5000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 128 | Shield, Marker Light. | All type buses. Weldon #5006. | 1343420-1721829 | Ascendance Trucks | 1-Each | 10 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 129 | Slide, Rear Door. | 03 and '04 Freightliner buses w/Thomas body. #TBB 64005717. | 1333150-2009326 | American Bus | 1-Each | 10 | OEM 64005717 | \$17.3800 | \$173.8000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 129 | Slide, Rear Door. | 03 and '04 Freightliner buses w/Thomas body. #TBB 64005717. | 1333150-2009326 | Boyd Truck Centers | 1-Each | 10 | TBB 168737 | \$19.9100 | \$199.1000 | | |
| | | , | | , | | | | | , | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 129 | Slide, Rear Door. | 03 and '04 Freightliner buses w/Thomas body. #TBB 64005717. | 1333150-2009326 | Ascendance Trucks | 1-Each | 10 | | | \$0.0000 | | |
| 129 | since, nedf DOOF. | 03 and 04 regulation bases w/ Hoffids body. #100 04005/17. | 1333130-2009326 | ASCERIGANCE TRUCKS | 1-54011 | 10 | | | ŞU.UUUU | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | 201. | | | | | | | 448 | 40.0 | | |
| 130 | Slide, Rear Emergency Door. | 05 and '06 IH buses. #2203819C3. | 1333150-2002821 | American Bus | 1-Each | 35 | OEM 2203819C3 | \$17.5000 | \$612.5000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | Atturueu | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |

| | | 1100.001 | | | | | | 400.000 | 4 | | |
|-----|---------------------------------|--|-----------------|--------------------|--------|----|-----------------------|-----------|--------------|---------|--|
| 130 | Slide, Rear Emergency Door. | 05 and '06 IH buses. #2203819C3. | 1333150-2002821 | Ascendance Trucks | 1-Each | 35 | Navistar 2203819c3 | \$38.0000 | \$1,330.0000 | | |
| 130 | Slide, Rear Emergency Door. | 05 and '06 IH buses. #2203819C3. | 1333150-2002821 | Boyd Truck Centers | 1-Each | 35 | | | \$0.0000 | | |
| 131 | Slide, rear emergency door step | OEM style only. Amtran buses. #425045001. NO SUBSTITUTE. | 1333150-1727124 | American Bus | 1-Each | 10 | OEM 425045001 | \$15.5000 | \$155.0000 | Awarded | |
| 131 | Slide, rear emergency door step | OEM style only. Amtran buses. #425045001. NO SUBSTITUTE. | 1333150-1727124 | Ascendance Trucks | 1-Each | 10 | Navistar 425045001 | \$42.2900 | \$422,9000 | | |
| 131 | Slide, rear emergency door step | OEM style only. Amtran buses. #425045001. NO SUBSTITUTE. | 1333150-1727124 | Boyd Truck Centers | 1-Each | 10 | | | \$0.0000 | | |
| 132 | Slide, side emergency door | '05 and '06 IH buses. #2204319C3. | 1333150-2005713 | Ascendance Trucks | 1-Each | 15 | Navistar 2204319c3 | \$34.3200 | \$514.8000 | Awarded | |
| 132 | Slide, side emergency door | '05 and '06 IH buses. #2204319C3. | 1333150-2005713 | American Bus | 1-Each | 15 | OEM 2204319C2 | \$35.5100 | \$532.6500 | | |
| 132 | Slide, side emergency door | '05 and '06 IH buses. #2204319C3. | 1333150-2005713 | Boyd Truck Centers | 1-Each | 15 | | | \$0.0000 | | |
| 133 | Socket, pig-tall, stop arm | All type buses. Specialty #431-7K. | 1343060-1220388 | Ascendance Trucks | 1-Each | 15 | Navistar SMC4317K | \$82.4500 | \$1,236.7500 | Awarded | |

| 133 | Socket, pig-tail, stop arm | All type buses. Specialty #431-7K. All type buses. Specialty #431-7K. | 1343060-1220388 | American Bus | 1-Each | 15 | OEM 431-7K | \$83,9900 | \$1,259.8500 | | | |
|-----|---------------------------------------|--|-----------------|--------------------|--------|----|------------|-----------|--------------|---|---------|------------------|
| 133 | Socket, pig-tail, stop arm | | | Boyd Truck Centers | 1-Each | 15 | SMA 431 7K | \$89.4600 | \$1,341.9000 | | | |
| 134 | Solenoid. Wayne buses | #124-105-211 or #124906. | 1343750-1507891 | American Bus | 1-Each | 70 | OEM 124906 | \$29.2700 | \$2,048.9000 | | Awarded | |
| 134 | Solenoid. Wayne buses | #124-105-211 or #124906. | 1343750-1507891 | Ascendance Trucks | 1-Each | 70 | | | \$0.0000 | | | |
| 134 | Solenoid. Wayne buses | #124-105-211 or #124906. | 1343750-1507891 | Boyd Truck Centers | 1-Each | 70 | | | \$0.0000 | | | |
| 135 | Solenoid, Pre-heat for Intake Heater. | Freightliner buses w/3126E CAT. #398-0939. | 1343750-2005723 | | 1-Each | 1 | | | | | | No Bids Received |
| 136 | Solenoid, Stop Arm. | All type buses. #SA1680. | 1343060-1630784 | Boyd Truck Centers | 1-Each | 6 | SMA 1680 | \$73.1000 | \$438.6000 | | Awarded | |
| 136 | Solenoid, Stop Arm. | All type buses. #SA1680. | 1343060-1630784 | American Bus | 1-Each | 6 | OEM 1800 | \$98.9300 | \$593.5800 | 1800 IS SPECIALTY MANUFACTURING'S DIRECT REPLACEMENT OF THE SA1680 WHICH WAS DISCONTINUED | | |
| 136 | Solenoid, Stop Arm. | All type buses. #SA1680. | 1343060-1630784 | Ascendance Trucks | 1-Each | 6 | | | \$0.0000 | | | |

| 137 | Spring, Gas, Braun Lift. | Braun #30550A. | 1333250-1715824 | American Bus | 1-Each | 1 | OEM 30550A | \$26.9800 | \$26.9800 | | | |
|-----|---------------------------------------|--------------------------|-----------------|--------------------|---------|---|---------------|------------|--------------|--|---------|--|
| 137 | Spring, das, sidan ent. | 5.001.11353357. | 1333230 1713024 | 7 menean bas | 1 20011 | 1 | 02.11.5055071 | \$20.5000 | \$20.5000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 137 | Spring, Gas, Braun Lift. | Braun #30550A. | 1333250-1715824 | Boyd Truck Centers | 1-Each | 1 | 30550A | \$28.1600 | \$28.1600 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 137 | Spring, Gas, Braun Lift. | Braun #30550A. | 1333250-1715824 | Ascendance Trucks | 1-Each | 1 | | | \$0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 138 | Spring, Gas, Platform Fold-up Assist. | Braun Lift #29186A. | 1333250-2012434 | American Bus | 1-Each | 1 | OEM 29186A | \$35.5000 | \$35.5000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 138 | Spring, Gas, Platform Fold-up Assist. | Braun Lift #29186A. | 1333250-2012434 | Boyd Truck Centers | 1-Each | 1 | 29186A | \$43.2900 | \$43.2900 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 138 | Spring, Gas, Platform Fold-up Assist. | Braun Lift #29186A. | 1333250-2012434 | Ascendance Trucks | 1-Each | 1 | | | \$0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 139 | Spring, Lift, Sold in Pair. | Braun #C1514.3-0408NKS. | 1333250-2013956 | American Bus | 1-Each | 2 | OEM 403649KS | \$599.2500 | \$1,198.5000 | | | |
| | -p(8) / | | | | | _ | | , | 7-7 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 139 | Spring, Lift, Sold in Pair. | Braun #C1514.3-0408NKS. | 1333250-2013956 | Boyd Truck Centers | 1-Each | 2 | 403649KS | \$661.9000 | \$1,323.8000 | | | |
| 135 | Spring, End, Join III Fall. | biddii #C1514.5*0400NN3. | 1333230-2013330 | boya mack centers | 1-2001 | _ | +05045K3 | 3001.3000 | 71,323.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 120 | Coring Lift Cold in Dair | Braun #C1514.3-0408NKS. | 1333250-2013956 | Accordance Trucks | 1-Each | 3 | 1 | | \$0,0000 | | | |
| 139 | Spring, Lift, Sold in Pair. | braun #C1314.3-U4U8NKS. | 1333230-2013956 | Ascendance Trucks | T-ESCU | 2 | | | \$0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |

| | | | | Î | | | 1 | | | | |
|-----|---------------------------|--|-----------------|--------------------|--------|----|---------------|-----------|----------------|---------|--|
| 140 | Spring, Return, Stop Arm. | All type buses. #2198. | 1343060-1394914 | Boyd Truck Centers | 1-Each | 1 | SMA 2198 | \$1.5800 | \$1.5800 | | |
| | | | | | | | | | | Awarded | |
| 140 | Spring, Return, Stop Arm. | All type buses. #2198. | 1343060-1394914 | American Bus | 1-Each | 1 | OEM SA2198 | \$5.6500 | \$5.6500 | | |
| | | | | | | | | | | | |
| 140 | Spring, Return, Stop Arm. | All type buses. #2198. | 1343060-1394914 | Ascendance Trucks | 1-Each | 1 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| 141 | Sunvisor. | Blue Bird buses. #3060-1. | 1330550-1675346 | American Bus | 1-Each | 10 | OEM 3060-1 | \$43.5600 | \$435.6000 | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | 4 | | |
| 141 | Sunvisor. | Blue Bird buses. #3060-1. | 1330550-1675346 | Ascendance Trucks | 1-Each | 10 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| 141 | Sunvisor. | Blue Bird buses. #3060-1. | 1330550-1675346 | Boyd Truck Centers | 1-Each | 10 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| 142 | Sunvisor. | '04 Freightliner bus w/Thomas body. #66-3060-4. | 1330550-2008659 | American Bus | 1-Each | 10 | OEM 66-3060-4 | \$42.2200 | \$422.2000 | | |
| | | | | | | | | | | Awarded | |
| 442 | | 1015 at 1115 at 115 | 4220550 2000550 | A To do | 4.5 | 40 | | | \$0,000 | | |
| 142 | Sunvisor. | '04 Freightliner bus w/Thomas body. #66-3060-4. | 1330550-2008659 | Ascendance Trucks | 1-Each | 10 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| 142 | Sunvisor. | '04 Freightliner bus w/Thomas body. #66-3060-4. | 1330550-2008659 | Boyd Truck Centers | 1-Each | 10 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |

| 443 | C | '11 thru '14 C2 buses #TBB 158340BUS. | 4220550 2042040 | A P | 4.5 | 1 45 | 0514.4503.40 | 620.0700 | 6500 5500 | | | |
|-----|--|---|-----------------|--------------------|---------|------|-----------------------|------------|--------------|--------------|----------|---------------------------|
| 143 | Sunvisor, 6 x 30. | 11 tillu 14 C2 buses #1BB 138340BUS. | 1330550-2013949 | American Bus | 1-Each | 15 | OEM 158340 | \$39.9700 | \$599.5500 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 143 | Sunvisor, 6 x 30. | '11 thru '14 C2 buses #TBB 158340BUS. | 1330550-2013949 | Ascendance Trucks | 1-Each | 15 | | | \$0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 143 | Sunvisor, 6 x 30. | '11 thru '14 C2 buses #TBB 158340BUS. | 1330550-2013949 | Boyd Truck Centers | 1-Each | 15 | | | \$0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 144 | Switch, Actuating for Blue Bird Buses, Child | #BB1155241. | 1343810-1699594 | American Burn | 1-Each | | OEM BB1155241 | \$16.1300 | \$16.1300 | | | |
| 144 | Reminder Switch. | #BB1155241. | 1343810-1699594 | American Bus | 1-Each | 1 | OEM BB1155241 | \$16.1300 | \$16.1300 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Accorded | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 144 | Switch, Actuating for Blue Bird Buses, Child | #BB1155241. | 1343810-1699594 | Ascendance Trucks | 1-Each | 1 | | | \$0.0000 | | | |
| | Reminder Switch. | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 144 | Switch, Actuating for Blue Bird Buses, Child Reminder Switch. | #BB1155241. | 1343810-1699594 | Boyd Truck Centers | 1-Each | 1 | | | \$0.0000 | | | |
| | Reminder Switch. | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 145 | Switch, Air Door. | '05 and '06 IH buses. #2207601C1 or #3867045C1. | 1343810-2005715 | Boyd Truck Centers | 1-Each | 25 | TBB 158340 | \$39.3100 | \$982.7500 | | | Rejected - incorrect part |
| 145 | Switch, All Book. | 05 and 00 m bases. #2207001c1 of #3007043c1. | 1343010-2003/13 | boyd Hack Centers | 1-20011 | 25 | 155 136340 | \$35.3100 | \$302.7300 | | | bid. |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 145 | Switch, Air Door. | '05 and '06 IH buses. #2207601C1 or #3867045C1. | 1343810-2005715 | American Bus | 1-Each | 25 | OEM 3867045C1 | \$169.6900 | \$4,242.2500 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | **** | 40.00 | | | |
| 145 | Switch, Air Door. | '05 and '06 IH buses. #2207601C1 or #3867045C1. | 1343810-2005715 | Ascendance Trucks | 1-Each | 25 | Navistar 2207601c1 | \$249.0000 | \$6,225.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | l . | | 1 | 1 | 1 | 1 | 1 | | 1 | | | |

| 146 | Switch, Brake Light. | 99 thru '01 IH buses. #2035006C2. NO SUBSTITUTE. | 1343810-1733229 | Ascendance Trucks | 1-Each | 1 | Navistar | \$31.8300 | \$31.8300 | | |
|-----|-----------------------------------|--|-----------------|--------------------|---------|----|-------------|-----------|------------|---------|--|
| | | | | | | | 2035006caxl | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 146 | Switch, Brake Light. | 99 thru '01 IH buses. #2035006C2. NO SUBSTITUTE. | 1343810-1733229 | American Bus | 1-Each | 1 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 146 | Switch, Brake Light. | 99 thru '01 IH buses. #2035006C2. NO SUBSTITUTE. | 1343810-1733229 | Boyd Truck Centers | 1-Each | 1 | | | \$0.0000 | | |
| 140 | Switch, Blake Light. | 99 (III 01 III 00365. #2033000C2. NO 308311101E. | 1343610-1733229 | Boyd Huck Centers | 1-Lacii | 1 | | | 30.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 147 | Switch, Brake Light. | 05 and '06 IH buses. #2505850C2. | 1343810-2009658 | Ascendance Trucks | 1-Each | 15 | Navistar | \$25.5200 | \$382.8000 | | |
| | | | | | | | 2505850c2 | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 147 | Switch, Brake Light. | 05 and '06 IH buses. #2505850C2. | 1343810-2009658 | American Bus | 1-Each | 15 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 147 | Switch, Brake Light. | 05 and '06 IH buses. #2505850C2. | 1343810-2009658 | Boyd Truck Centers | 1-Each | 15 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 148 | Switch, Dome, 2-pole Momentary. | Ward buses. #9023. | 1343810-1300854 | American Bus | 1-Each | 1 | OEM 9023 | \$25.7100 | \$25.7100 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | Awarded | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 148 | Switch, Dome, 2-pole Momentary. | Ward buses. #9023. | 1343810-1300854 | Ascendance Trucks | 1-Each | 1 | | | \$0.0000 | | |
| 140 | Switch, Donie, 2-pole Monientary. | verio 66365. #3023. | 1343010-1300034 | Ascendance mucks | I-Latii | 1 | | | Ş0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| 148 | Switch, Dome, 2-pole Momentary. | Ward buses. #9023. | 1343810-1300854 | Boyd Truck Centers | 1-Each | 1 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |
| | | | | | | | | | | | |

| 149 | Switch, Door. | Ward buses. #9055. | 1343810-1300550 | American Bus | 1-Each | 3 | OEM 9055 | \$13.8700 | \$41.6100 | | | |
|-----|-------------------------------|----------------------|-----------------|--------------------|--------|----|---------------|-----------|------------|---|---------|--|
| | , | | | | | | | , | , | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 149 | Switch, Door. | Ward buses. #9055. | 1343810-1300550 | Ascendance Trucks | 1-Each | 3 | | | \$0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 149 | Switch, Door. | Ward buses. #9055. | 1343810-1300550 | Boyd Truck Centers | 1-Each | 3 | | | \$0.0000 | | | |
| | , | | | | | | | | , | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 150 | Switch, Emergency Roof Hatch. | Amtran buses. #8639. | 1343810-1732306 | American Bus | 1-Each | 5 | OEM SA9368 | \$28.8000 | \$144.0000 | SA9368 1800 IS SPECIALTY | | |
| | | | | | | | | | | MANUFACTURING'S DIRECT REPLACEMENT OF THE 8639 | | |
| | | | | | | | | | | WHICH WAS DISCONTINUED | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | _ | | | | | | |
| 150 | Switch, Emergency Roof Hatch. | Amtran buses. #8639. | 1343810-1732306 | Ascendance Trucks | 1-Each | 5 | | | \$0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 150 | Switch, Emergency Roof Hatch. | Amtran buses. #8639. | 1343810-1732306 | Boyd Truck Centers | 1-Each | 5 | | | \$0.0000 | | | |
| | , | | | , | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 151 | Switch, Emergency Roof Hatch. | SMI #1974-034. | 1343810-1715639 | American Bus | 1-Each | 25 | OEM T1975-034 | \$38.2500 | \$956.2500 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 45: | Collab Francis C. Citta | 6341140 | 4242040 | Accords T | 45. | | | | 60.0000 | | | |
| 151 | Switch, Emergency Roof Hatch. | SMI #1974-034. | 1343810-1715639 | Ascendance Trucks | 1-Each | 25 | | | \$0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 151 | Switch, Emergency Roof Hatch. | SMI #1974-034. | 1343810-1715639 | Boyd Truck Centers | 1-Each | 25 | 1 | | \$0.0000 | 1 | | |
| | - , | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | <u> </u> | | |
| | | | | | | | | | | | | |

| 152 | Switch, Micro, Braun Lift. | Braun #37030KS. | 1333250-1715160 | American Bus | 1-Each | 1 | OEM 37030KS | \$179.5500 | \$179.5500 | Awarded | |
|-----|--|--------------------------------|-----------------|--------------------|--------|---|--------------------|------------|------------|---------|------------------|
| | | | | | | | | | | | |
| 152 | Switch, Micro, Braun Lift. | Braun #37030KS. | 1333250-1715160 | Ascendance Trucks | 1-Each | 1 | | | \$0.0000 | | |
| 152 | Switch, Micro, Braun Lift. | Braun #37030KS. | 1333250-1715160 | Boyd Truck Centers | 1-Each | 1 | | | \$0.0000 | | |
| 153 | Switch, Rear Door Buzzer. | Carpenter buses. #91812. | 1343810-1724818 | | 1-Each | 1 | | | | | No Bids Received |
| 154 | Switch, Rear Heater. | '00 IH Amtran bus. #441142004. | 1343810-2002203 | American Bus | 1-Each | 5 | OEM 441142004 | \$16.9000 | \$84.5000 | Awarded | |
| 154 | Switch, Rear Heater. | '00 IH Amtran bus. #441142004. | 1343810-2002203 | Ascendance Trucks | 1-Each | 5 | NAVISTAR 6131248C1 | \$39.9200 | \$199.6000 | | |
| 154 | Switch, Rear Heater. | '00 IH Amtran bus. #441142004. | 1343810-2002203 | Boyd Truck Centers | 1-Each | 5 | | | \$0.0000 | | |
| 155 | Switch, Roll Stop Harness, Braun Lift. | Braun #33745KS. | 1333250-1709618 | American Bus | 1-Each | 3 | OEM 33745KS | \$81.2800 | \$243.8400 | Awarded | |
| 155 | Switch, Roll Stop Harness, Braun Lift. | Braun #33745KS. | 1333250-1709618 | Ascendance Trucks | 1-Each | 3 | | | \$0.0000 | | |

| 155 | Switch, Roll Stop Harness, Braun Lift. | Braun #33745KS. | 1333250-1709618 | Boyd Truck Centers | 1-Each | 3 | | | \$0.0000 | T | | 1 |
|-----|--|--|-----------------|--------------------|---------|----|---------------------|------------|------------|---|---------|------------------|
| | | | | .,. | | | | | , | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 156 | Tape, Seat. | 3" x 180", Blue. | 7630020-2000530 | | 1-Each | 15 | | | | | | No Bids Received |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 157 | Tape, Seat. | 3" x 180", Brown. | 7630020-1250186 | | 1-Each | 2 | | | | | | No Bids Received |
| 137 | таре, зеат. | 3 X 100 , BIOWII. | 7030020-1230160 | | 1-Eacii | 2 | | | | | | No bias neceived |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 158 | Tensioner, Belt. | '03 and '04 Freightliner buses w/3126 CAT. #138-2514 or #190-0642. | 1345448-2010308 | | 1-Each | 5 | | | | | | No Bids Received |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | - | | | | | | |
| 159 | Tensioner, Belt. | '05 and '06 IH buses w/VT365. #4C4Z-6B209-AA or #1833688C2. | 1345448-2002592 | Ascendance Trucks | 1-Each | 2 | Navistar 1833688c2 | \$179.0000 | \$358.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 159 | Tensioner, Belt. | '05 and '06 IH buses w/VT365. #4C4Z-6B209-AA or #1833688C2. | 1345448-2002592 | American Bus | 1-Each | 2 | | | \$0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 159 | Tensioner, Belt. | '05 and '06 IH buses w/VT365. #4C4Z-6B209-AA or #1833688C2. | 1345448-2002592 | Boyd Truck Centers | 1-Each | 2 | | | \$0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 160 | Tensioner, Pulley, Left Side. | '05 and '06 IH buses w/VT365. #1687801C91. | 1345448-2010503 | Ascendance Trucks | 1-Each | 1 | Navistar 1687801c91 | \$259.8800 | \$259.8800 | | | |
| 200 | | | 20.21.32020303 | The fide states | 2 2001 | | 200,001031 | +===. | , 223.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | Awarded | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| 160 | Tensioner, Pulley, Left Side. | '05 and '06 IH buses w/VT365. #1687801C91. | 1345448-2010503 | American Bus | 1-Each | 1 | | | \$0.0000 | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |
| | | | | | | | | | | | | |

| | | 100 1100 111 1 1 1 1 1 1 1 1 1 1 1 1 1 | | | | | | | 40.000 | | | |
|-----|--|---|-----------------|--------------------|--------|----|--------------------|------------|--------------|---|---------|--|
| 160 | Tensioner, Pulley, Left Side. | '05 and '06 IH buses w/VT365. #1687801C91. | 1345448-2010503 | Boyd Truck Centers | 1-Each | 1 | | 400 | \$0.0000 | | | |
| 161 | Thermostat. | '03 Freightliner bus w/3126 CAT. #115-4223. | 1340900-2002596 | Ascendance Trucks | 1-Each | 6 | CAT 115-4223 | \$26.3000 | \$157.8000 | | Awarded | |
| 161 | Thermostat. | '03 Freightliner bus w/3126 CAT. #115-4223. | 1340900-2002596 | American Bus | 1-Each | 6 | | | \$0.0000 | Ì | | |
| 161 | Thermostat. | '03 Freightliner bus w/3126 CAT. #115-4223. | 1340900-2002596 | Boyd Truck Centers | 1-Each | 6 | | | \$0.0000 | | | |
| 162 | Tread, Step, Pebble Type, 2nd and 3rd Steps. | '98 and newer IH buses. #440898003 or #STEP1236BLKSC. | 1333300-2008847 | American Bus | 1-Each | 5 | OEM STEP1236BLKSC | | \$751.4500 | | Awarded | |
| 162 | Tread, Step, Pebble Type, 2nd and 3rd Steps. | '98 and newer IH buses. #440898003 or #STEP1236BLKSC. | 1333300-2008847 | Ascendance Trucks | 1-Each | 5 | Navistar 440898003 | \$295.6500 | \$1,478.2500 | | | |
| 162 | Tread, Step, Pebble Type, 2nd and 3rd Steps. | '98 and newer IH buses. #440898003 or #STEP1236BLKSC. | 1333300-2008847 | Boyd Truck Centers | 1-Each | 5 | | | \$0.000 | | | |
| 163 | Valve, ABS Modulator, Front Brake. | '02 IH bus. #K128916OR, #3541970C2 or #BX801479. | 1335750-2002662 | Ascendance Trucks | 1-Each | 25 | Bendix BXk128916or | \$264.2100 | \$6,605.2500 | | Awarded | |
| 163 | Valve, ABS Modulator, Front Brake. | '02 IH bus. #K128916OR, #3541970C2 or #BX801479. | 1335750-2002662 | American Bus | 1-Each | 25 | | | \$0.000 | | | |

| | | | | r | , | | , | | | 1 | ı |
|-----|------------------------------------|--|-----------------|--------------------|--------|----|--------------------|-----------|--------------|---------|------------------|
| 163 | Valve, ABS Modulator, Front Brake. | '02 IH bus. #K1289160R, #3541970C2 or #BX801479. | 1335750-2002662 | Boyd Truck Centers | 1-Each | 25 | | | \$0.0000 | | |
| | | | | | | | | | | | |
| 164 | Valve, Air Seat. | '05 and '06 IH buses. #2505475C1. | 1333450-2009729 | American Bus | 1-Each | 25 | OEM 2505475C1 | \$18.5000 | \$462.5000 | Awarded | |
| 164 | Valve, Air Seat. | '05 and '06 IH buses. #2505475C1. | 1333450-2009729 | Ascendance Trucks | 1-Each | 25 | Navistar 2505475c1 | \$40.0400 | \$1,001.0000 | | |
| 164 | Valve, Air Seat. | '05 and '06 IH buses. #2505475C1. | 1333450-2009729 | Boyd Truck Centers | 1-Each | 25 | | | \$0.0000 | | |
| 165 | Washer, Retainer, Front Spindle. | 04 Freightliner bus. #FXA-817134. | 1358600-2009660 | | 1-Each | 75 | | | | | No Bids Received |